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A. Prima Facie Case:
1. Elements:

a. D breached duty to P
b. Injury to P

c. D’s breech of duty caused injury to P

d. Damages 

2. Burden of proof:

a. P has burden of pleading

b. P has burden of producing evidence for prima facie case

c. P has burden of proof – must win by a preponderance of the evidence

d. If D can prove affirmative defense, judgment must be for D (with affirmative defense, D has the burden to plead, produce evidence and burden of proof)

B. Battery

Protected interest: Freedom from certain contacts

Elements:

1. D acts

2. with purpose (intent) of causing harmful or offensive contact with another or an imminent apprehension thereof or with substantial certainty that D’s conduct will cause such a contact or apprehension

3. D’s conduct results in such a contact with the other and/or a third party

1. Act

a. Failure to act does not constitute a battery

2. Intentional infliction
a. An actor intends the consequences

b. Actor knows with a substantial certainty that consequence will result (Garratt)

c. Transferred intent allowed (Talmadge) – i.e. if you try to hit party A but hit party B instead, you are still liable to party B

d. Intent to commit an assault
e. Motive irrelevant – still liable even if injury not intended (Vosburg)

3. Harmful or offensive contact

a. Complete immunity from physical interference (Mohr)

b. Objects held and clothing included

c. Can cause contact indirectly

4. Injury
a. Directness, not foreseeability test (Vosburg)

C. Assault

Protected interest: Freedom from certain apprehensions

Elements

1. D acts intending to cause a harmful or offensive contact with the person of the other or a third person, or an imminent apprehension of such contact

2. The other is thereby put in such imminent apprehension
· Motive irrelevant (it could be a joke)

· Transferred intent allowed

D. Trespass

Protected interest: Freedom from interference with exclusive possession of real estate.

Elements:
1. D acts such that D’s conduct interferes with P’s right to exclusive possession of real estate
2. Injury
3. Causation
4. Damages
1. Act
a. Not limited to physical invasions on land:

i. Eaves overhanging another party’s land (Smith)

ii. Airplane overflights within 500 feet of the ground (Neiswonger)

b. Motive irrelevant (Cleveland Park Club; 9-year-old boy meant to put ball in drain but thought there was no suction at the time)

2. Injury

a. Directness, not foreseeability test (Brown; two children accidentally set fire to garage and house)

· Mistake is no defense (Maye; P mistakenly told D that D owned the land. Court allowed P to recover damages equal to the value of the gold dug up, less cost of its extraction and refinement)

E. Conversion.

1. unauthorized interference with another’s right to exclusive possession of personal property

2. Does not apply to land torts – those are covered under trespass

3. Example: Taking somebody’s property unlawfully.

4. Motive irrelevant: If I pick up your briefcase, believing in all good faith that it’s mine, I have committed the tort of conversion.

F. False imprisonment: Bodily restraint of another.

G. Intentional infliction of emotional distress: 

1. Acting with the purpose or knowledge to a substantial certainty that conduct will cause emotional distress to defendant.
2. Example: Wife is throwing a birthday party for husband. She receives a telegram from an invited guest saying that husband was run over by an automobile and is in the hospital.

3. Motive irrelevant: Should realize potential for inflicting emotional distress, even if it is intended as a joke.

H. Affirmative Defenses 
1. Contributory Negligence: Never a defense for intentional torts (i.e. in Vosburg, perhaps P should have been wearing a knee brace, but that is irrelevant to his case)

2. Assumption of Risk: Is a defense (i.e. breaking up fight)

3. Consent:

a. Burden of proof is on D. Public policy reasons:

· Efficiency: Would have to see if there is consent for every case, when in reality the defense rarely arises.

· Fairness:

i. D is in a better position to prove consent if true

ii. Harder to prove a negative (absence of consent) than a positive (its existence)

· P’s autonomy: At the margin, having burden of proof on D for consent protects autonomy of P over D’s freedom of action.

b. Express Consent: i.e. medical release form. Exceptions:

· Coercion/duress

· Underage

· Not mentally competent – intoxication/insanity

· Fraud or deceit (Maharam v. Maharam; husband liable for giving wife genital herpes if he intentionally misrepresented his condition)

· against public policy (i.e. suicide pact, illegal boxing matches or prize fights)

c. Implied Consent: Consent implied in emergencies – consent is a pure fiction, but assumed anyway to protect people in P’s situation

i. Mohr v. Williams: Consent was not a defense, as P consented to surgery on right ear, not left. This unauthorized contact was a battery.

ii. During operation, surgeon can operate when necessary if

· near incision

· sound judgement

· authorized party cannot give consent at the time (Kennedy)

iii. Can be inferred from conduct (O’Brien; no trespass on doctor’s part for vaccinating immigrant woman)

iv. For children or incompetents:

· Guardian is asked to make the decision in place of minor or incompetent (Bonner)

· Law generally protects guardian’s good faith decision from any judicial challenge in the case of adult incompetents (i.e. end of life decisions or organ transplants)

· In parent/fetus conflict situations, mother’s choice respected (In Re A.C.: terminally ill mother could choose whether to have caesarean section, which would markedly improve fetus’s chance of survival; Doe v. Doe; competent pregnant woman has absolute right to refuse caesarean section)

4. Insanity:

a. Person must be able to form the requisite intent (McGuire; she knew she was hurting somebody)

b. Possibly a defense if D delusional and does not know she is harming somebody else

c. Rule: If insane D knew she was harming somebody, insanity not a defense

d. Public policy  justification:

i. Incentives: Provides incentives for guardians to take better care of insane party

ii. Compensation: Compensation of victims

iii. Fairness: Difficulty in discerning insanity

iv. Floodgates argument: Every D will raise an insanity defense

5. Self Defense:

a. Justified when:

i. Reasonable belief that D was being assaulted (Courvoisier)

a. based on reasonable person standard – if D shoots person brandishing a water pistol believing it to be a real gun disguised as a water gun, that is not a reasonable belief

ii. Reasonable use of force

b. Only reasonable force allowed – after disarmed may not use force

i. For deadly force: must face death or serious bodily injury or rape. 

ii. May use self-defense even for threat of minor injury (Boston v. Muncy)

c. No reasonable alternative: do not necessarily need to run away

i. If not in dwelling and able to flee, deadly force not allowed.

ii. If in dwelling, do not have to flee – “a man’s home is his castle”

d. Not liable for accidental harming of third persons unless D realized or should have realized act created an unreasonable risk

e. Self defense on behalf of third persons also allowed – Restatement Section 76: all the same privileges defending a third party as defending yourself if belief is reasonable

6. Necessity: 

a. Trespass allowed:

i. To prevent harm to oneself or one’s property (Ploof; D was not allowed to push boat off to save own dock)

ii. to chase animals off own land

iii. traveler may pass on land to avoid obstruction on highway

iv. Human life holds a paramount value when it comes to necessity (Ploof)

b. Must ask if there was an alternative way to attain goal without trespassing – i.e. if there is another place to dock, there is no necessity.

c. Conditional (Incomplete) Privilege
i. Trespass allowed, but must pay for ensuing damages (Vincent)

ii. Policy reason – unjust enrichment (i.e. boatowner is saving his boat unjustly at dockowner’s expense)

d. Public Necessity; Complete Privilege:

i. Arises when property would have been destroyed without any intervention (e.g. can destroy house in the case of fire or war)

ii. No compensation given

iii. Policy reason: asymmetrical incentives (i.e. Respublica court found that in London in 1666 Lord Mayor would not pull down houses to stop the fire because he was afraid he would have to compensate the owners)

II. Accidental Harms: Historical and Analytical Foundations of Negligence

and Strict Liability
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A. Historical Foundations of Negligence versus Strict Liability.
1. The Thorns Case, 1466 (UK)

a. D cuts thorns on his property; they fall onto P’s. D walks onto P’s land to get them and P sues for trespass.

b. To sue, P must apply for a writ claiming a trespass “by force and arms” (“vi et armis”), which was “breaking the King’s peace.”

c. System subsequently divided into two types of action: trespass (a direct application of force) and trespass on the case (indirect, consequential harms)

d. Strict liability the standard – intention and negligence irrelevant

e. D has three possible defenses – demurrer (no trespass as a matter of law), general denial, and affirmative defense

2. Scott v. Shepherd (the squib case), 1773, (UK)
a. A tosses lighted squib into market, which falls on B’s stall, B tosses to C, C to D, D to E, whose eye is damaged. E sues A.

b. Court determines that damage was direct enough to sue for trespass – intervening actors were acting in self-defense only and bear no liability

c. Scott shows difficulty in decided between trespass and case. It is ruled to be trespass although damage is clearly indirect

B. Deontological Theory: Pertains to rights.

1. The purpose of tort liability is to redress violations of P’s rights and enforce a D’s duty to respect those rights.

a. Corrective justice: Legal system ought to step in to correct moral/ethical transgressions as a result of D’s conduct by requiring D to compensate P

b. Distributive justice: Just distribution of wealth

2. Fault-based approach: Justice Holmes’ approach. D shouldn’t intentionally act to harm P or P’s property. D should also act carefully. If D doesn’t try to intentionally harm P and doesn’t act carelessly, there is no liability.

3. Epstein (A Theory of Strict Liability):

a. D is prima facie liable when she acts to cross a boundary into (infringes on) another person’s space under four conditions:

i. Force and compulsion

ii. Fright

iii. Creation of a dangerous condition

iv. Invasion or trespass

b. Cases that fall out of these four should be judged by negligence standard

4. Fletcher (Fairness and Utility in Tort Theory): Reciprocity
a. When a person is acting at a higher level of risk than the other, he is liable.

b. Negligence:
i. Acting negligently imposes a non-reciprocal risk

ii. Car Crash Example: Two cars collide. If both are driving carefully then neither is liable. If one is negligent and the other drives carefully, the negligent one is liable.

iii. Fistfight Example: Neither party liable in a fistfight, because they engage in reciprocal risk

c. Strict Liability: Reciprocity explains SL cases. Example: An airplane hits a house. Even if the flight is carried out carefully, airplane can be strictly liable because flying a plane is inherently more risky than having a house.

d. Excuses to non-reciprocal risks include:
i. Coercion

ii. Unavoidable ignorance

e. Problem with reciprocity: Determining what constitutes a non-reciprocal risk. Is walking a mastiff equivalent to walking a pit bull?

5. Holmes (The Common Law, 1881)

a. Contrasts criminalist theory (negligence; you’re punished for failing to observe a norm of behavior) with strict liability (if you voluntarily act and harm someone, you’re liable).

b. Objections to strict liability:

i. Unfair system: D can be liable even if chain of events is very attenuated – “but for” test allows D’s act to be necessary but not sufficient precondition to event.

ii. Humans must act. Unjust to punish somebody when they are committing a lawful act/taking due care. Responsibility is a predicate for liability, and if you can’t see the consequences, you can’t avoid them.

iii. Responsible choice: Must know the standard of due care (i.e. the standard below which your actions will be negligent), so you can proceed in accordance with it.

iv. Halts progress: There would be no innovation because of risk of liability for unforeseeable consequences.

v. Efficiency: Should not crank up cumbersome and expensive tort system to shift the loss.

c. Holmes relies on private insurance scheme to take care of P’s injuries.

d. Holmes is not arguing against limited application of SL (i.e. Blackburn’s true rule) but against a uniform system where you are liable for any “but-for harm” – he is picking on an easy target because a uniform system of SL is rarely advocated.

C. Welfare/Utility based principles: We can’t change the past (i.e. harm done to P). Rather, tort liability should enhance future societal welfare.

1. Economic outlook:

a. Justice system should maximize opportunities and resources available to society

b. Can provide incentives for appropriate behavior

c. Consequentialist: No corrective justice to right past wrongs. Can only look to future consequences of the legal rules we adopt. What impact will they have on future societal welfare?

d. Intentional Harms: No effective protection in the absence of state protection against forcible takings of person or property – Hobbes’ state of nature. Therefore, our property rights cannot be forcibly invaded.

e. Accidental Harms: Tort law maximizes social welfare by minimizing: i) cost of accidents ii) cost of reducing accident costs iii) administrative costs of legal system – see Calabresi
2. Calabresi. (The Costs of Accidents). Principle function of accident law is to minimize the sum of:

a. Costs of accidents

i. Cost of harm

ii. Cost of risk bearing – goal is to find the cheapest cost avoider, but avoid externalization due to insufficient subcategorization (tax on all drivers does not address high risk teenagers), transfer (if you allocate cost to pedestrians, it will actually be paid in social insurance from general taxes) or inadequate knowledge (if pedestrians have inadequate knowledge, putting the costs on them will not alter behavior, and thus won’t prevent accidents)

b. Costs of reducing costs of accidents

c. Administrative costs of tort system – i.e. more claims are filed under SL, but they are simpler. Negligence leads to fewer, more complex claims

· Methods of reducing these costs:

i. Precaution (safer brakes, etc.)

a. Must balance costs of precaution against savings from loss of accidents. Utilitarians say we should not spend more on precaution than we would save from loss of accidents.

b. Example: Pollution incurs cost of 4. If pollution control costs 2, should implement it. If it costs 6, should not implement because cost is greater than benefit.

ii. Reduce level of accident-causing activities
iii. Reduce the costs of risk bearing
3. Coase. (The Problem of Social Cost)

a. Initial legal rule doesn’t matter as long as the parties can bargain to reach most efficient outcome. Any precaution costing more than the amount it saves is not cost justified.
b. The assumption is that this is a frictionless bargaining, and that bargaining will not raise transaction costs, so overall result is efficient.
c. Problem with his argument: In reality, impediments to bargaining may be so great that Coase’s idea is impractical.
d. Transaction costs can be lowered by forming a firm employing both parties, so that efficient results can be mandated without negotiation. Federal statutes often put government in role of super firm.
e. Factory and fishery example #1: If factory has right to property with an inefficient result (pollution costs to fishery of 6 and control costs of 4), then fishery can pay factory to install controls at cost of 5 and they both profit.
f. Factory and fishery example #2: If fishery has right to property with inefficient result (stops factory that would make profit of 6 when pollution cost is only 2), then factory can pay fishery to waive normal legal rights to halt pollution.
4. Posner. (A Theory of Negligence) – an economic theory of negligence

a. Implicit to negligence standard is how much accident-avoidance precautions will cost the victim – is it cheaper for P or D to take precautions?

b. Dominant function of the fault system is to generate rules of liability that, if followed, will bring about the cost-justified level of accidents and safety.

c. Breach of defendant’s duty. Duty of highest care is owed by common carrier to its passengers, but it owes less duty to trespassers – it does not need to use due care, only avoid knowing injury.
d. Industry standards not a defense – can still be negligent if extra safety feature would result in a benefit (cost is less than probability times magnitude of harm). Otherwise there would be a stagnation in safety advances because market and court system give no incentive for improvements.

e. Contributory negligence prevents recovery by P in order to give P incentive to take precautions to avoid the accident. However, if cost of prevention is lower for D than for P, P should recover even if there’s contributory negligence.

f. Respondeat superior. Imposing liability on employer for employees’ negligence increases safety by giving employer an incentive to sanction carelessness.

i. Distinction between employees and independent contractors. Employers not liable for contractors’ work because they don’t oversee the contractors.

g. “Fellow servant” rule. Employer not liable to injury to employee by fellow employee because employees are in the best position to spot other employees’ negligence.

i. Exception: if employer is on notice of employee’s negligence or if injured employee does not have the chance to spot other employee’s negligence.

ii. Policy reason: Creates a powerful incentive for workplace safety
h. Employee who sues employer for injury when he knew about dangerous condition but kept working anyway. Can’t recover because he is paid to take the extra risk – he assumed the risk by continuing to work.

i. Damages. The following components are relevant:

i. Damage to property
ii. Medical and hospital expenses, other outlays necessitated by accident

iii. Present value of all earnings lost or likely to be lost as a result of disability caused by accident

iv. Suffering to the victim, his family, and perhaps others from pain, disfigurement, and impairment of ability to enjoy life

D. Analytical Foundations of Negligence versus Strict Liability

1. Similarities
a. In both, business will install pollution control if its cost is less than cost to society

b. In both, business will not install pollution control if its cost is more than cost to society

2. Differences
a. Decisive difference is who bears the losses that will occur:

i. Under strict liability, D bears the costs.

ii. Under negligence, P bears them.

b. Difference in incentives for taking precaution (standards of harm and care):

i. Unilateral harm, unilateral care (i.e. Rylands – mill and mine)

a. Either negligence or strict liability will lead actor to adopt cost-justified precautions

b. Strict liability makes actor take into account liability of residual harms that occur even after precaution is taken

c. This is the strongest case for strict liability because P cannot do anything to reduce the risk of harm, so we do not need the contributory negligence defense. We want actor not to engage in activities that pose excessive risks even when done carefully.

d. Deontological theory: Also holds this is the best case for SL because there is a passive P and an acting D. Epstein: D is invading P’s space. Fletcher: D’s activity has a higher level of risk than P’s.

e. Coase: If bargaining were costless, cost-effective precautions would be taken regardless of liability rule

f. Long term effect: Under strict liability, mill bears all costs. Under no liability, mine bears all costs. Negligence has intermediate effects.

ii. Unilateral harm, bilateral care (i.e. Powell v. Fall – locomotive and farmer’s hay rick)

a. Negligence: Contributory negligence is a defense. Farmer will take care by moving hay rick away from the sparks when it is cheaper to do that than for railroad to take precautions to prevent sparks

b. Strict liability: No contributory negligence defense. May create inefficiency because incentives are only on railroad even if it is cheaper for farmer to move hay rick.

c. Coase: Even if rule adopted by court is inefficient, parties can achieve efficient result by bargaining if costs aren’t too high.

d. Although there is a disparity in the nature of the risk because only D can harm P, P may have some responsibility to prevent the harm that may result in these situations. Conversely, one can argue that you should have security on your own land.

iii. Bilateral harm, bilateral care (i.e. highway collision)

a. Negligence gives both parties incentives to take care.

b. Strict liability problematic:

i. Doesn’t provide right incentives: It is cheaper to drive with bald tires, regardless of whether other drivers do so.

ii. Large administrative costs: Both drivers would bring suit in every collision case.

c. Arguments against SL and in favor of negligence are strongest under this circumstance.

d. Epstein is at something of a loss because risk may be at the same level in this situation.

c. Difference in incentives (location). Four different location possibilities:

i. P on own land, D on own land

ii. P on own land, D on public way

iii. P on public way, D on own land

iv. P and D on public way

v. Cases where strict liability applies are the top two – “a man’s home is his castle”

d. Difference in incentives (reciprocal nature of activities)

i. Are actors doing the same thing (i.e. driving on the public) or very different things (flying a plane versus owning a house)?

e. Difference in costs:

i. Administrative costs less for strict liability because you don’t have to litigate whether there was negligence.

ii. Fewer claims under negligence, but more complex.

E. Negligence and Strict Liability – Last Half of Nineteenth Century
1. Brown v. Kendall, 1850 (Massachusetts)

a. Two dogs fighting on the public way; D injures P while hitting dogs with stick in effort to separate them. Court enforces a negligence standard.
b. Issue appealed by D was jury instructions – trial court had instructed the jury that there must be an exercise of extraordinary care, thus shifting burden of proof to D. P only needs to show that D acted and caused harm.

c. Mass. Supreme Court ruled that P needs to show negligence – since D’s act was lawful (conformed to due care), he should not be found liable.

2. Fletcher v. Rylands, 1868 (UK).

a. The shaft under D’s reservoir collapses, flooding P’s coal mine. P seeks to recover under trespass (strict liability). Court rules for strict liability.
b. Blackburn’s “true rule”: Strict liability when you keep a dangerous/potentially dangerous substance on your property.

c. Cairns: Natural vs. non-natural uses of land. You are liable if “non-natural” uses cause damage.

i. “Natural use” classification puzzling – were historical uses natural? Does non-natural mean not appropriate to the location, unduly risk, or negligent?

d. Cranworth agrees with Blackburn, refers to two cases:

i. Smith: Natural flow of water to a lower mine – owner of upper mine not liable because he just let water go through.

ii. Baird: Owner of upper mine pumped water into lower mine, found liable. Under Blackburn’s rule, pump brought something onto land that wouldn’t otherwise be there. Under Cairns’ view, it was “non-natural.” 

e. Although it originally received a frosty reception in US, principle of Rylands has made a comeback in recent decades, generalized as strict liability for unreasonably dangerous activities.

3. Brown v. Collins, 1873 (N.H).
a. D’s horses on public way became frightened and broke P’s post. Court rejects strict liability.
b. Ruling for D – slippery slope argument. If strict liability is imposed, people will have no motive to advance civilization because they are afraid of disturbing the natural order.
4. Losee v. Buchanan, 1873 (NY).
a. D’s boiler on his land explodes, injuring P’s real estate. Court rejects strict liability.
b. No strict liability – P benefits as part of a “civilized society,” so must risk that the neighbor will accidentally and unavoidably damage you.

5. Powell v. Fall, 1880 (UK)

a. P’s hay rick catches fire because of D’s “locomotive” which runs on the public way. Strict liability applied. D argues that he complied with regulatory requirements, which shields him from liability.
b. Regulatory statute specifies that it does not affect P’s right of recovery. Even so, courts could still determine that regulatory compliance constitutes a defense.
c. Court applies strict liability as a common law matter, and adheres to principle of Rylands
d. Bramwell’s opinion: If activity is profitable, then D ought to be liable. If profit gained does not pay for damage caused, then activity should be discontinued.

6. Louisville Ry Co. v. Sweeney, 1914 (Ky.)
a. D’s trolley on public way causes injury to P’s land, resulting in strict liability.
b. Inconsistent with Brown v. Collins – shows that Rylands-type liability, as in Powell, was recognized in a few American jurisdictions.

F. Strict liability and Negligence in Modern Times
1. Stone v. Bolton, 1951 (UK).

a. Stone hit on the head by a cricket ball; sues cricket ground because they either should have made the field larger or else made fence higher. Negligence and strict liability claims.

b. Court found for D because there was no negligence – although risk was foreseeable, magnitude wasn’t great enough to find D negligent. No breach of duty under reasonable person standard.

c. Rylands wasn’t applicable because P was on public way. If she had been inside her gate, she likely would have won the suit.

2. Hammontree v. Jenner, 1971 (UK).
a. D had epileptic seizure, crashed through wall of shop, and injured P. P argued that strict liability should apply to drivers. Judgment for D.

b. Court said that strict liability shouldn’t apply:

i. No analogy to product manufacturers: They can recoup their losses by increasing the cost of their products. An individual is not like a manufacturer.

ii. Shifting to strict liability creates unworkable system: If court accepts strict liability here, they would have to accept it in all insurance cases. In every collision case, both drivers would sue the other.

III. Negligence

A. Tort of Negligence

1. D has duty to P

2. D breaches duty

3. D’s breach is causation of P’s harm

4. Damages: P suffers harm

B. The Reasonable Person

1. Rejects subjective standard based on abilities of the individual (Vaughan v. Menlove; D claimed he shouldn’t be held to reasonable person standard because it’s not his fault that he doesn’t possess highest order of intelligence)

2. Holmes (The Common Law): Opposes subjective standard

a. Difficult to determine whether somebody falls below standard of care

b. Therefore, if subjective standard is allowed, level of care in society would decrease because everybody would claim that they cannot meet standard of care – are klutzes or are of low intelligence

c. Exceptions: Blind people, little kid. They fall into objectively determinable subcategories that can’t be held to normal standards of care that are impossible for them.

3. Defendant held to reasonable person standard, while P may be held to lower standard.
a. Roberts v. Ring (old man driving car runs into small child): D should be held to reasonable person standard. If he falls below it, then he shouldn’t be driving. Child is found not contributorily negligent, and held to lower standard of care than reasonable person.

b. Minor engaged in non-youthful activities may be held to adult standard: Daniels court refused to hold decedent 19-year-old to lower standard of care for purpose of determining contributory negligence because he was engaged in adult activity where he could injure others – thus adult standard of care. (P in Roberts was engaged in youthful activities.)

c. Goss v. Allen: 17-year-old skier held to standard appropriate to youths his age – court differentiates it from driving because no license is required for skiing. Sharp dissent, probably more persuasive than majority opinion, noted that injury is just as severe even if inflicted by youth.

d. Dellwo v. Peterson: 12-year-old D operating speed boat was held to adult standard of care even though no licensing statute for such boats.

e. Child may not be held to adult standard if he is D: Roberts notes that it would be different if little boy caused injury to another.

f. Double standard good: Good to have objective standard for D and subjective standard for P to protect the young and the accident-prone.

4. Goal is to make P and D both take care.
a. Under contributory negligence, law provides incentives for both to take care.

b. With no contributory negligence regime, P will take care to avoid losses that would occur even though D is careful. D will take care to avoid being held liable.

c. Both provide appropriate incentives to make P and D take care.

5. Beginner held to same standard of care as the reasonably skilled:
a. Policy reason: Holding beginners to lower standard of care encourages them to undertake activities that might not otherwise be attempted, at the expense of the public at large. No exception for beginners. (Hughey v. Lennox)

b. Exception: If P assumes risk that D will exercise lower standard of care – i.e. experienced driver teaching novice how to drive.

6. Those with greater skill not held to higher standard of care.
a. Only required to exercise skill and knowledge normally possessed by their profession/trade.

b. Exception: If D “represents that he has greater or less skill” than the average. (Restatement (Second) of Torts, Section 299A)

7. Temporary insanity defense to reasonableness.
a. Temporary insanity can preclude liability if 1. it affects D’s ability to understand duty of care or affects D’s ability to control car in a prudent manner, and 2. there must be an absence of forewarning as to the condition (Breunig)

b. Court found for P in Breunig because jury could infer forewarning – 1. Veith could foresee something like God driving the car for her and 2. the mental aberrations were not constant; thus she had knowledge of her condition

c. Saying that temporary insanity is no defense to negligence is too broad: Unjust to punish those who don’t know about the condition

8. Permanent insanity not a defense (McGuire; Breunig extends McGuire’s rationale from intentional torts to negligence)

a. One who caused the loss should bear it

b. Estate should take care of insane persons to prevent accidents

c. Would cause proliferation of false insanity defenses.

9. Disabled person imposes higher degree of care on D.
a. Fletcher v. City of Aberdeen (blind man injured on construction site): Reasonable municipality would take into account a wide range of people who will walk down the street.

b. Disabled people held to standard of prudence of a reasonable person with this disability.
c. Policy reasons:
i. Fairness – may be impossible for disabled to meet standard of ordinary adult.

ii. Reasons to disallow subjective standard do not apply – people will not disable themselves to get lower standard of care.

10. Same duty of care for rich and poor:
a. Fairness: If poor person had lower standard of care than rich person, extremely poor person might have standard of care that practically amounts to nothing. (Denver & Rio Grande R.R. v. Peterson)

b. Professors Abraham and Jeffries: D’s wealth is irrelevant to deterrence (because actors still weigh expected costs and benefits of an action, whether poor or rich), and irrelevant to compensation.
c. Professor Arlen: Wealth should matter in standard of care because rich person is less deterred by potential costs than a poor person if the liability they face is the same.

C. The Calculus of Risk

1. D normally not required to anticipate extraordinary situation
a. Blyth v. Birmingham Water Works: Frost of 1855 was one of the severest on record, and D should not be asked to anticipate it.

b. Probability of extraordinary situation is low – must be taken into account when evaluating risk.

c. If magnitude of harm is great even with low probability (i.e. accident at nuclear plant), you would still take precautions. Need to take magnitude into account also.

d. Hypothetical: Is strong swimmer on beach who sees kid drown liable? (Smaller probability of harm to him than to the kid he is trying to save.) No, he isn’t:

i. Slippery slope: May require person to attempt a rescue when there is a 50 percent chance he will lose his life, but 50 percent chance of saving 5 others. No duty of affirmative action when I have not taken actions that expose others to risk.

ii. Libertarian argument: I didn’t cross into drowning kid’s space and have nothing to do with it.

2. Need standard to judge D’s conduct by: Mere fact that he caused injury is insufficient to prove negligence (Osborne v. Montgomery)

3. D must show precaution could be taken to prevent the harm.
a. Rinaldo v. McGovern (poorly hit golf ball hit P’s car):  Court found for D because proposed warning (shouting “fore!” before hitting golf ball) wouldn’t have made any difference.

b. Precaution must not cause greater harm in another area – i.e. Cooley v. Public Service Co. – court found for D because precaution that P suggested (wire baskets under power lines) would protect people on the phone at the expense of people on the street, who are at greater risk.

c. Negligence fails to make D examine level of activity: Shavell argues that even though increase in level of activity raises expected accident losses, negligence only focuses on due care and not on level of activity. Therefore, Shavell argues that SL is superior, because it makes D consider both level of care and of activity.

4. BPL formula: B = burden of precuations, P = probability of harm, L = loss (magnitude of harm)

a. Process of applying BPL formula:

i. Identify known or reasonably knowable risk to other

ii. Determine risks P + L

iii. Identify known or reasonably knowable precautions

iv. Determine B of precautions

v. BPL Calculus

b. Theoretical underpinnings
i. Can see BPL formula in welfare economics terms – if we fail to take cost-effective precaution, we are decreasing overall social welfare.

ii. Can also see BPL formula in deontological terms – I would be selfish and fail to give consideration to others if I do not to confer benefits on others greater than the costs of me taking precautions.

iii. Problem with BPL formula: It applies quantitative analysis to variables that can’t easily be quantified, such as injury and loss of life and limb.

iv. Seavey says we should consider a number of variables and shouldn’t rely on a formula. Perhaps best way to think of BPL is not as a formula, but a framework.

v. “Reverse Learned Hand test” (Calabresi and Hirschoff) – costs of accident are borne by injurer unless accident avoidance on part of victim would have cost less than the accident.

c. United States v. Carroll Towing Co.
i. Issue was whether barge owner was contributorily negligent because bargee was not in the barge at the time of the accident. Hand uses the BPL formula, determines the likelihood of injury outweighed leisure of the bargee.

ii. Judge Learned Hand very explicitly provides the BPL formula – one should take care until he has taken all cost-effective precaution

d. Can use BPL to determine contributory negligence.
i. Eckert (decedent was hit while trying to save young child from oncoming train): Rescuer was contributorily negligent if burden of rescue is greater than probability/magnitude of damage to child.

ii. Dissent in Eckert says P cannot recover because decedent assumed the risk, and thus was not wronged.

e. Probability and severity of harm need not be given equal weight.

i. Paris v. Stepney Borough Council: One-eyed workman became blind when doing work that caused chips to fly. All agreed that D was not obligated to provide goggles to two-eyed employees. However, court ruled for P, because consequences of loss of an eye were more serious for one-eyed than two-eyed man, even though probability of loss is the same.

f. Difference between negligence and SL in applying BPL test.

i. Under SL, D makes balancing judgments to determine how much care is cost-effective. D predicts what the likely harms are from its activities, then trades off various precautions and costs of precautions.

ii. Under negligence, trier of the case goes through these variables to determine if D was negligent.

iii. Under negligence, P identifies precautions that D should have taken – either incremental (should have had safer brakes) or can attack the whole production process (you used chemical x that causes pollution – you should have built your whole plant differently).

iv. Work where location is important: Negligence does not work so well in determining appropriate activity level – i.e. highway blasting. Harm can occur even if care is taken. In city, harm (15) outweighs profit from project (10). D should use an alternative to blasting. In country, however, harm is only 5. If location is important we want to use strict liability – it provides the right incentives to D.

v. Errors by court under negligence (either slightly more or less than most efficient level of care) may influence level of care D takes if court’s errors are not unreasonable (i.e. they cost much more than expected accident costs). These errors will be much less significant under SL because jury only determines level of damages. If jury errs, it only makes a small difference in amount of money D pays – while negligence affects whether D is liable for the entire harm. Thus, more incentive under negligence to follow jury’s recommendations of what is/is not negligent.

g. Epstein does not like BPL standard – he thinks there should presumptively be SL in cases involving strangers, but that isn’t the law

D. Custom
1. Two issues raised by custom:
a. Does conformance with custom establish a lack of negligence?

b. Does failure to live up to customary practice establish that D is negligent?

2. Standard industry practice defense

a. Titus v. Bradford. Appeals court found that because railroad’s practice was standard in industry, they should not be expected to take further precautions. Court’s justification is that cost of abandoning industry customs is greater than potential harm.

i. Titus no longer the law: Custom is only evidence of lack of negligence, does not mean court must find there was no negligence.

ii. Exception: Doctors enjoy a special standard – if they conform to customary standards in the profession, they are absolved of negligence.

b. Justification is well-functioning labor market:
i. Railroad would have to pay higher wage to its workers if chance of death/injury were higher for its employees:

a. Implicit value of life: If chance of death rises by 1 in 10,000 and there is a $500 premium to work in this riskier job, the value of life implicitly is $5,000,000 ($500 times 10,000 workers). Term is misleading because it actually deals with increased risk of death.

b. Market values lives more highly, on average, than does tort litigation system.

c. If we provide compensation through tort system, the wage premium declines.

ii. Encourages railroad to weigh cost of precautions against benefits in reduced wage premium and install precautions if they are cost-effective
iii. What can injured worker do? Buy insurance with their higher wage premiums.

a. Worker would not buy insurance if he is a risk taker, or else could not afford insurance.

iv. Problems with labor market justification:

a. Well-functioning labor market may not exist

b. No way for judge to know if we have reasonably functioning labor market

c. Danger must be known to employees

3. The T.J. Hooper: Judge Hand uses BPL standard to determine if there was negligence. Risk is fairly large while cost of precaution (working radio) is relatively low.

a. Taken as definitive repudiation of Titus-type approach – custom should not definitively determine standard of care.

b. When doctor’s conduct falls short of custom, that is proof of negligence.

E. Statutory Violations
1. Applies when D does not comply with criminal or regulatory statute with prohibition or requirement.
2. Requirements:

a. P must be within the class of persons protected by the statute

b. Injury must be one of the risks which the statute seeks to prevent
3. Determining class of protected persons:
a. Can be read broadly (Teal; court ruled that OSHA regulations were designed to protect all employees, including employees of independent contractor)

b. Can be read narrowly when statutes have more limited objectives (Fitzwater; statute requiring removal of ice not for protection of pedestrians using sidewalk, but to help city in its efforts)

c. Trend is to be more liberal in finding wide range of persons the statute is aimed at protecting

4. Determining risks the statute seeks to prevent:
a. Gorris v. Scott: P lost because Contagious Disease (Animals) Act required animals to be penned to prevent spread of disease, not to protect them from washing overboard

b. Trend is to find subsidiary statutory purposes (de Haen; court ruled that statute designed to prevent workmen from falling should also apply to falling objects – see also Kernan)

5. Statute may establish norm of conduct for the courts

a. Osborne: Statute requiring that poisons be labeled as such establishes a standard of conduct.

6. Subsequently enacted statutes (enacted after manufacture of item in question) may be introduced as evidence because they indicate what safe item should contain. (Hammond; allowed OSHA regulations into evidence)

7. Private rights of action under federal statutes.
a. Absent federal preemption, state can adopt or reject federal standard as basis for a private suit (Lowe v. General Motors)

b. Trend is away from allowing private rights of action under federal statutes (Cort v. Ash and subsequent Supreme Court decisions)

8. What weight should be given to statutory violation in question?
a. Failure to comply is negligence: When individual does not comply with statute, it is not just some evidence of negligence. It is negligence per se, negligence in itself (Martin v. Herzog)

i. When there is a statutory violation, the claim automatically goes to the jury. The jury can decide the other way, but it is assured to get to the jury.

ii. Proofs of negligence, from strongest to weakest: 1. Negligence per se (conclusive – i.e. statutory violation), 2. Prima facie case of negligence, 3. Evidence of negligence
b. Jury may find lack of causation – i.e. violation of statute did not cause injury

9. Statute may conflict with custom: In Tedla, P charged with contributory negligence was following a practice that was followed before statute and actually presented lower risk of harm than complying with statute. Court stuck with negligence per se, but interpreted statute as not applying in this instance – an implied exception to statute’s prohibition.

a. Restatement (Second) §288A endorses court’s position in Tedla.
10. Applies when third party intervenes to injure P when D created the condition for P’s injury:

a. Richards v. Stanley: Found for D because D was not the proximate cause of P’s injury – thief who stole the car was the proximate cause.

b. Ross v. Hartman: D was found guilty even if thief was the proximate cause of P’s injury, because D had violated ordinance requiring him to keep truck locked, thus creating a hazard the ordinance was designed to prevent.

c. Vesley v. Sager: An actor may be liable if his negligence is a substantial factor in causing an injury, and he is not relieved of liability because of the intervening act of a third person if such act was reasonably foreseeable at the time of his negligent conduct.

11. Administrative regulations “on the books” that are no longer enforced do not make D liable (Lucy Webb Hayes National Training School v. Perotti)

12. Policy reasons for statutory violation also creating civil liability:

a. Additional incentive over and above criminal law to apply with statute – police may have other things to do, thus we rely on P to enforce the statute – prospect of damages may cause D to take care.

F. Judge and jury
1. How do we get more certainty in decisions?

a. Make custom dispositive

b. Have statutes set standard of care

c. Give more authority to the court in determining what is negligent (more authority to judge and less to jury)

2. Reasons for juries in civil trials

a. History: we didn’t like the king’s judges – jury was seen as a bulwark of liberty

b. Democratic distrust of elites, including judges

c. Civic education: juries allow citizens to participate in the administration of justice and learn about the court system

3. Holmes (The Common Law):
a. Argues that we need a clear and definite standard

b. If judges discern consistent trends, they should lay them down as matter of law that judge will decide – either instruct jury or simply overturn jury verdict to enforce consistent trend in jury determinations

4. Trend is to give jury more and more discretion

5. Confrontation between the Goodman and Pokora cases

a. Goodman: Holmes does exactly what he says judges should do – overturns a verdict for the P.

b. Pokora: Cardozo says that judge should defer to the jury.

c. Can distinguish cases on their facts: In Goodman there was a pretty clear line where car could stop to look out for train. In Pokora, it is very difficult to stop, look and listen because there were four tracks. There should have been a flag person because it was essentially a trap. Cardozo said P did the best he could to deal with hazardous situation created by D.

G. Res ipsa loquitur
1. Allows P to establish prima facie case by relying on circumstantial evidence. However, there is a high standard of proof.

2. Three elements of res ipsa:

a. Accident wouldn’t normally occur without negligence
b. Instrumentality that caused harm to P was either in exclusive control of D at all times, or else responsibility by third parties for accident is sufficiently excluded. (If there are multiple parties that could have been responsible but they are not joined, court will not hold D liable, as per Winans and Victory Park Apartments.)

c. P did not contribute to the accident.

3. Application of res ipsa loquitur
a. Vehicle skidding across midline of the highway: Pfaffenbach court ruled that whenever a vehicle drifts onto the wrong side of the road, a prima facie case of negligence is made out – subject to explanation by D.

b. Hotels. Two competing views:

i. In Larson (P hit by chair apparently thrown out of hotel window), court ruled res ipsa did not apply because hotel did not have exclusive possession of its furniture.

ii. In Connolly (P injured when struck by unidentified falling object when Junior Chamber of Commerce national convention was held in hotel), court held res ipsa applied and case could reach jury because hotel had notice of the hooliganism.

c. Ships. In Walston (D’s boat mysteriously disappeared at sea), court held res ipsa did not apply because of the many hazards at sea.

d. Directed verdicts. Res ipsa usually allows P’s case to reach the jury, but sometimes evidence is enough for a directed verdict. Two cases with different outcomes:

i. In Newing decedent was killed in airplane crash when the weather was calm, decedent was not in a position to fly the plane, and pilot and second passenger had smell of alcohol on their breath along with 8 or 9 empty beer cans. Fuel tanks were empty at a time that a reasonable person would expect them to be empty – evidence excellent for P.

ii. In Imig, res ipsa did not apply. Car towed by wrecker hit P, but defendants had checked rig just before the accident and P had no specific proof of negligence. Demonstrates high standard of proof for res ipsa.
4. Byrne v. Boadle. Classic case where this principle of establishing PF case was first established.

a. Facts: P was passing by on the public way when he was struck by a barrel of flour. Trial court found no evidence of negligence and found for D. P appealed. Court ruled for P, because the barrel falling is evidence of negligence.

b. There was no discovery at this point in time. Even if there were discovery, P would probably not be able to find negligence with res ipsa – D’s employees would say they didn’t know, or perhaps provide an innocent explanation.

c. Deciding that accident probably wouldn’t have occurred without negligence is an empirical generalization based on our understanding of how things work. It was D’s barrel, factory, and servants. If some other agency caused the barrel to fall, D is in a better position to know.

5. Colmenares Vivas v. Sun Alliance Insurance Co. Handrail stopped as P was going up escalator – she fell and sued.

a. Trial court (which was reversed) held that res ipsa did not apply (no evidence of negligence because instrumentality was not within control of D) and granted directed verdict for D.

b. Appellate court said that P had sufficient case through circumstantial evidence.
c. How do we know that accident wouldn’t normally occur without negligence? We look to proportion of accidents that occur even though care is taken. Some accidents occur even though care is taken – others only occur when care is not taken. P relies on generalizations of whether there is negligence – if it is more likely than not that the accident was the result of negligence, then P has a PF case.

d. Was it in exclusive control of D? They subcontracted out maintenance duties, but appellate court says that isn’t legitimate – D had a non-delegable duty.

6. Probability in res ipsa. Grenade hypothetical – grenade malfunctions with defective fuse. 1 million grenades are produced. There is a 1 in 1000 chance of failure when grenade is manufactured properly and a 50 percent chance of failure when it’s manufactured negligently.

a. D is careful 99.9% of the time. 999,000 are properly inspected – 999 will be defective. 1,000 are negligently inspected – 500 will be defective. More likely than not there is no negligence, 999 to 500.
b. D is careful 99 percent of the time. Only 990,000 are properly inspected. 990 grenades defective with due care, 5,000 are defective by negligence. More likely than not there is negligence, 5,000 to 990.
7. Duty to inspect. There is a duty to inspect. Brown v. Racket Club of Bricktown (plaintiffs injured during fashion show when stairway they were standing on collapsed). Negligent construction was due to predecessors in building, but D held liable because they were under a general duty to inspect premises for latent defects. See also Restatement (Second) of Torts, §343, comment b.

8. P’s conduct. Sometimes the instrumentality in question is in P’s possession at the time of accident. If so, D’s possession does not prevent the suit provided that P has used the thing only for the purpose for which it was intended.
a. In Honea, P was carrying cases of Coca-Cola by grabbing the bottles, when one of the bottles exploded. Trial court did not grant res ipsa, but appellate court ruled that trial court erred by not allowing P’s testimony that all employees lifted cases that way, and he was told to lift them that way.

b. In Eppley, chair which P was sitting on collapsed. Court ruled that the chair was defective, P had no duty to inspect it for defects before sitting, and she was using it for the purpose for which it was intended.

H. Vicarious liability.
1. Respondeat superior. Employer is responsible for acts of employees performed in the course of employment, with two exceptions:

a. Independent contractors: Not under control of entity hiring them, so no vicarious liability

b. Employee acting outside the scope of employment
2. Respondeat superior usually determined by the judge.
3. Employer liable for small deviations, not for large ones. Riley v. Standard Oil Co. (court determines that employee driving 4 blocks out of the way on personal errand did not take employee out of master’s employment).

4. Employer can be liable for intentional torts. In Lancaster, court found D liable for employees who drove P into “a descent of madness” via abusive and indecent acts, including “goosing.” Supervisors should have gotten wind of abuse and prevented it.

5. The “borrowed servant.” Cardozo held in Charles v. Barrett that as long as employee furthers the business of general employer by service rendered to another, there will be no inference of a new relationship.

6. Employer has right of indemnification against employees, since employee’s active negligence caused the original accident.

7. Ira S. Bushey & Sons v. United States. Drunken seaman opens a valve, flooding tanks on one side of dry dock. Owner sues government for damages on the principle of respondeat superior. Trial court finds for P, appellate court affirms.

a. Previous test was the motive/purpose test (did employee think he was acting for the benefit of employer?). In this case, it would fail the motive test, and employer would not be liable. Judge Friendly rejects the motive test.

b. Friendly also rejects trial judge’s welfare-based SL argument, noting that dock owner can more cheaply take care and thus from an economic perspective the loss should perhaps be left where it lies to make dock owner take care.

c. Friendly applies the foreseeability test. He says that the employer is liable for risks characteristic of the enterprise. Sailor is required to come back to the ship, and the dry dock is where the ship is. He can open this valve only by virtue of his association with the ship, otherwise he wouldn’t be in that particular place.

8. Owner-consent statutes. Victim of a tort can sue not only the driver of the vehicle but also its owner, as per section 388 of the New York Vehicle and Traffic Law.
IV. Causation

A. Cause in fact.
1. Grimstad. Decedent drowns. Barge did not have a buoy. There was a collision and he ended up in the water, unable to swim. His wife ran to grab a line, but her husband had already sunk by the time she returned with it.

a. Court of appeals finds for D – trial court should have granted a summary judgment on the issue of causation. There was insufficient evidence on causation to go to the jury because there was no evidence that having buoy on the boat would have prevented decedent from drowning.

b. To determine whether the negligence (of not having buoy) was the cause in fact of decedent’s death, you can construct a counter-factual. What would have happened if there was a buoy? Court of appeals says it’s not reasonable to say he would have been saved if there had been a buoy. If he would have drowned anyway, D’s negligence makes no difference.

c. In modern times (post-Grimstad, juries have the broad powers of decision in cases of rescue at sea.
2. Over-deterrence. The viewpoint “If they’re negligent, let’s sock it to ’em” may lead to over-deterrence if jury thinks there is negligence when there isn’t.

	
	Accidents
	Accident costs (at $10,000 per accident)
	Care costs

	No antilock
	20
	$200,000
	0

	Regular antilock
	10
	$100,000
	$50,000

	Super antilock
	8
	$80,000
	$100,000


It isn’t worthwhile to move from antilock to super antilock from BPL analysis. Suppose manufacturer sticks with no antilock, and the jury finds manufacturer negligent. There are 20 accidents. Theoretically you will have to find out which 10 would have been prevented by regular antilocks. “Sock it to ’em” holds manufacturer liable to all 20, for a cost of $200,000.

Suppose company installs regular antilock, and the jury thinks there should be super antilock. 2 accidents would have been prevented by installing super antilock, but D is held liable for all ten. Gives manufacturer the incentive to install super antilock. If jury gets standard of care wrong and we make the D liable for all accidents, it may push D toward excessive care.

3. Stimpson and Engberg. More contemporary decisions where causation may be just as problematic as in Grimstad. Court decides to sock it to the D regardless of causation. From a corrective justice viewpoint, these cases are fundamentally inconsistent with basic theories of justice.

4. Richardson. Involves baby with congenital defects (limb deformities). P sues drug company, alleging that Bendectin caused the damage. Jury returns verdict for P, and D moves for j.n.o.v. Issue is causation.
a. Problem is that traditionally in torts, causation is easy to determine (i.e. knife slices an artery). With a chemical agent, we don’t know what happened in the womb or uterus. A number of tests can attempt to establish if substance x would cause birth defects:

i. Animal studies.
ii. In vitro studies.
iii. Examine Bendectin’s chemical structure.
iv. “Real world” data.
A. Signature relations – in a few cases, one can find signature relations between exposure to a particular substance and a particular type of illness. For instance, people with a particular disease may have generally been exposed to a specific substance – from this, can infer very strong causal link.

B. Epidemiological studies comparing mothers who took Bendectin with mothers who didn’t. Can do this in the clinical trial of a new drug or a natural experiment of mothers out there in the world. Look at the incidence of birth defects in both groups, and try to rule out any confounding variables, such as smoking or socioeconomic status. Try to decide whether there is a higher incidence of birth defects with mothers who took Bendectin than mothers who didn’t.

C. “Cluster” data – perhaps the incidence in a certain area (where there was a chemical factory, etc.) was 50% or 100% higher than average. 

b. Arguments:

i. P argues there is no other way to prove causation than an amalgamation of factors

ii. D argues that it is junk science to allow jurors to speculate based on hired expert witnesses (solution would be to have science panels that assemble the experts or have FDA approval function as a shield against liability)

c. Current trend in legal system is to prevent juries from having leeway of making scientific conclusions when they are not based on scientific consensus.

d. With Bendectin, there was no difference in the incidence rates, according to the overwhelming weight of the scientific evidence.

e. Court granted D’s motion for j.n.o.v. and new trial due to overwhelming weight of scientific evidence going against P.

5. Standard for expert testimony in cases involving scientific judgments
a. In Daubert, Supreme Court rejected traditional test of Frye v. United States, which only allowed expert testimony “generally accepted” by scientific community

b. New Daubert test instructs courts to take into account other measures of reliability of relevance, including the tightness of “fit” between the evidence presented and the charge to be proved.

6. Three levels of causation that must be established in toxic tort cases (established in In re “Agent Orange”):

a. Substance can cause the injury or disease

b. D and not someone else was the source of the substance

c. P was in fact exposed to the substance in a way that caused the disease

7. Herskovits. Decedent’s wife sued Group Health Cooperative because they misdiagnosed her husband, and as a result his chances of survival were reduced by 14 percent.

a. Odds that he would have died within five years with proper care were 61%. Odds of death with negligence were 75%.
b. Under traditional standard, P had to prove that D more probably than not caused injury – P would not recover in this case. However, a departure from common law rule is justified:

i. Lost chance of survival is measurable
ii. Under traditional standard, doctors can be as negligent as they please and would never be found liable if probability of causation is below 50 percent – from incentives viewpoint, does not lead to a sound result

c. This established the lost chance doctrine – that P can recover for a lost opportunity to live

i. The trend is in favor of the lost chance doctrine

ii. It was rejected in Fennell because it systematically over-taxes the D for harms it did not cause. P is compensated for lost opportunity if probability is under 50%, but fully compensated if probability is over 50%. Fennell rule undercharges D when chance lost is less than 50% but overtaxes D when chance lost is over 50% – the hope is that the two will cancel each other out.

d. Logically, the damages owed will be 20 percent of the damages for premature death

8. Polluting factory hypothetical. Polluting factory moves into town of 20,000 – cancer cases increase by 20 a year to 100, and there is no other possible cause of the increase. 80 are background, 20 are factory and we cannot tell which is which. Average damage for cancer is half a million dollars ($10 million total for 20 victims). If we know who the 20 victims are each gets $500,000. If not –

a. Damage theories:

i. Proportionate liability – $10 million to 100 victims – $100,000 a piece

ii. Liability risk – each resident compensated for risk. 20/20,000 = $500 per person in the town for increased risk

b. This is the problem of the indeterminate plaintiff. Another possibility to consider is that the factory could go bankrupt, and not be able to pay victims in the future.

9. Future tortious risk.
a. In Jackson v. Johns-Manville Sales Corp., P had contracted asbestosis and sued to recover for the 50% chance that he would also get cancer. Court allowed recovery for probable future consequences and for fear of future cancer.
b. In Mauro, the court did not allow P to recover for increased chance of asbestosis because it was less than 50%, but held that P could sue for the costs of medical monitoring, even if likelihood of ultimate injury were under 50 percent.

B. Proximate cause.
1. Proximate cause is when there’s cause in fact but liability is not imposed because injury is so unforeseeable. There are two approaches to judging proximate cause:

a. Test of foreseeability – at the time that D acted, was the injury sufficiently foreseeable? (ex ante)

b. Directness test – ex post test. There may have been intervening factors that interrupted the causal chain. If direct line of causation was attenuated, perhaps D should not be held liable. This is the primary approach in the US.
2. When damage is direct, you take your victim as you find him or her. The “thin skull” rule – you are liable for all directly caused damages.

3. Ryan v. New York Central R. Co. Fire spreads from D’s locomotive to D’s shed, then to P’s shed. Despite “but-for” causation, court rules D isn’t liable because of intervening natural causes – i.e. the wind. If D is liable for the second house, it would be liable for all the houses that burned. Potentially enormous liability.

a. Ryan is not followed today because these intervening conditions are not really so unforeseeable. Ryan would not be followed in sufficiently predictable situations. However, D would not be liable if a tornado carried his car onto P’s house.

4. Intervening natural causes.
a. A different approach from Ryan was adopted in City of Lincoln (involving a boat that was totally disabled in collision with P’s vessel). Question is whether damage was a natural and reasonable result of D’s act.

b. Bizarre causal chains.
i. In Brown v. Travelers Indemnity Co., D (P’s husband) negligently struck a cow on highway. P went to farmhouse to report incident. When she returned, cow started out of ditch, knocked her down and hurt her severely. Court affirmed judgment for P, noting that cow unexpectedly regaining consciousness is not a superseding cause.

ii. In In re Guardian Casualty Co., taxi collided with another car, then was thrust across the sidewalk and embedded in a building’s stonework. As it was being non-negligently removed half an hour later, a stone fell and hit decedent. Court held that death of decedent was not too remote a consequence of initial negligence, because no new force caused stone to fall.

5. Intervening human actor – D’s emergency response to situation
a. If P’s reaction to an emergency is the intervening action, D can still be found liable. In Jones v. Boyce, P jumped from D’s coach after it got out of control and broke his leg. It was established that D was negligent and that P would not have been hurt if he had remained in place. However, since the situation forced P to jump, the action was allowed to reach the jury.

b. Same result reached in Tuttle v. Atlantic City R.R., where D’s train jumped tracks and headed toward P. She ran for safety and hurt her knee, but would not have been struck if she stayed put. P’s effort to escape was reasonable, so D held liable.

c. Eckert v. Long Island R.R. Child was on train track. Decedent intervened to save child’s life and got killed in the process. Since D’s negligence necessitated the rescue, decedent’s rescue was not an intervention that absolved D of liability.

d. Occasionally foresight limitation can bar recovery. In Maurey, P tripped over a chair in her husband’s café while trying to flee after being warned by neighbors that D’s delivery truck was on fire and likely to explode. Two intervening factors – neighbors warning P, and P tripping over chair. Court denied recovery because if P didn’t see a chair in her own place of business, it imposes an inadmissible burden on D to say they should have foreseen from across the street and through the walls of another building on another corner.

6. Intervening human actor – D’s negligence creates dangerous situation, but there is sufficient time for subsequent actor to consider cause of action.
a. This does not negate D’s liability. In Wagner, man was thrown off train going around curve – brother goes looking for him and falls also. Cardozo says that D is responsible for the injuries suffered by the rescuing brother because “danger invites rescue.” D must take care of not only risk of somebody getting thrown out of train, but consequent risk of somebody getting injured when attempting a rescue.

b. In Wagner, Cardozo also rules that the continuity of negligence causing injury is not broken by rescuer’s exercise of volition.

7. Intervening human actor – subsequent actor is negligent.
a. Liability. In Atherton, D1’s negligence caused injury to P. Then ambulance carrying P was involved in another collision, resulting in further injury. D1 is liable for all subsequent injuries (initial accident and ambulance accident), while both D1 and D2 are liable for the ambulance accident. Possibilities of splitting liability:

i. Split it 50/50 (i.e. D1 for 1st accident, D2 for 2nd)

ii. Split it in proportion to fault – perhaps D1 was going 5 mph over speed limit and D2 was going 50 mph over speed limit

iii. The rule is joint and several liability. They are both liable to P for the whole amount, subject to restrictions that P can only recover once. P has option of going after D1, D2, or splitting it in some way. P gets judgment for total amount, then decides which D it will be enforced against.

b. Negligence in failing to spot danger. In Pittsburg Reduction Co., P’s claim against D company which discarded dynamite cap on its unenclosed plant premises near a public school was denied due to parents’ negligence – they should have known the dynamite cap was dangerous. There are two intervening subsequent acts of negligence – negligence of the first parent failing to control the cap, and the second parent’s negligence. If the parents should have known about the risk, responsibility of the original D is attenuated.
8. Intervening human actor – intentional/criminal intervention. Hardest case for proximate cause is where the subsequent actor acts intentionally or criminally to cause harm. Foreseeability seems to be the crucial test.

a. In Landeros, court held that if physician negligently failed to identify a battered child, he could be held for damages resulting from child’s return to his offending parent. Even though subsequent beatings were deliberate, they were also tragically foreseeable.
b. In Brower, P’s goods scattered in the public way after a train wreck and thieves made off with them. Since stolen goods was a natural and foreseeable result of this sort of accident, D held liable. D’s guards watched train after wreck, showing that D knew of the risk.

c. In Watson, tank car derailed through D’s negligence and gas leaked out. Duerr threw match onto gasoline, starting fire. If Duerr was negligent or malicious, then D is not liable for match being thrown.

d. Restatement position. Restatement (Second), §448: “The act of a third person in committing an intentional tort or crime is a superseding cause of harm to another resulting therefrom, although the actor’s negligent conduct created a situation which afforded an opportunity to the third person to commit such a tort or crime, unless the actor at the time of his negligent conduct realized or should have realized the likelihood that such a situation might be created, and that a third person might avail himself of the opportunity to commit such a tort or crime.”

e. When the probability of tortious or criminal act of third party makes actor’s conduct negligent, the actor will be liable despite intervening act. (Restatement (Second) §449) – i.e. Ross v. Hartman (key in the car case). D should look out for risk of thief taking car. Also Vesely v. Sager, in which vendor of alcoholic beverages is found liable for customer injuring third person as result of intoxication.

f. Hines v. Garrett. D railroad negligently drops P off at wrong stop, and during her walk home she is raped twice. D liable because it should have known about risk of sexual assault.

9. Conflict between thin skull (directness) and foreseeability test. They are at odds, and courts tend to choose directness test, as we can see in Polemis.
10. Pockets of no duty. If we construct duty of care under statute, then certain plaintiffs will be outside the box of duty. “But for” causal relationship is irrelevant because P has not proven D’s breach of duty.

a. In Gorris v. Scott (sheep that were not penned, in violation of Contagious Disease Act, were washed overboard), court found for D because the harm that occurred is not what statute set out to prevent. Thus there is no duty with respect to this risk.
b. Berry v. Borough of Sugar Notch. P was driving a trolley above the speed limit when a tree fell on it. Suit brought against borough, which is in charge of maintaining trees. Borough’s defense is that P was driving over speed limit, thus was negligent. There was but-for causation between speeding and injury (absent speeding, trolley would not have been in that place). Court rejects this argument, however:

i. Not one of the risks against which ordinance was directed. Speeding actually diminishes risk of injury, because P would be in one place for less time.

ii. Coincidence. Unlike Gorris v. Scott (where care would have reduced risk of sheep washing overboard), statutory violation is in no way related to injury.

c. Central of Georgia Ry. Co. P is dropped off at the wrong station by railroad and they put her up in a hotel where she is burned by the lamp. There may be but-for causation, but it is a coincidence that this P ended up in hotel room as opposed to somebody else. Thus D is not liable. (Compare this to the Hines case, where P was dropped off at wrong station negligently, then raped by a hobo and a soldier – D railroad should have known about the risk of a sexual assault).

d. Courts have refused to impose liability on social hosts who serve driver that later injures P. (Categorical no duty case – niche carved out by the court.)

11. Polemis. D charters a boat, has petroleum products in the cargo. In Casablanca, D employs laborers who negligently drop plank. Spark from exploding plank touches off a fire, burning boat. Damage attributed to D on respondeat superior.
a. Contract says that D is not responsible for loss or damage from fire. The issue is contract interpretation. D interposes the contract, saying boat owner contractually waived claims about damage of ship due to negligence of charterers. Court construes contract to preserve tort remedy where contract does not clearly and expressly preclude it.

b. D argues that extent of the damage was not foreseeable. Court concludes that under the circumstances it is immaterial. They apply the directness test – once D is negligent, it is liable for any harm that results from the negligence. Since there is no intervening causal agent, we’re back to the thin skull doctrine.

12. Palsgraf. D railroad negligently held door open for passenger who attempted to jump on. Passenger dropped package with fireworks in it, causing scales to fall on P. It was but-for causation, with no intervening causal agent. Dynamite was a dangerous condition, not another intervening agent.

a. Cardozo concludes for majority that if there was negligence, it was not toward D. Therefore, no duty. Duty is owed only to certain classes of P at risk – those who can foreseeably be affected, and risks that are foreseeable and material. Palsgraf not within protected class.

b. Andrews dissent says that there is negligence, and we should not fine tune negligence to particular persons. He applies the directness test. Ultimately, he concedes, whether D’s conduct was a “substantial factor” in P’s injury is a gut judgment.

c. Problem with foreseeability test is that it is very malleable. How does one describe the event? In Polemis, should we say injury is from the falling plank? Or that it is from the spark? Not a clear way to resolve the question. Even though directness test may lead to disproportionate liability, we are willing to live with it. We accept it in the thin skull case, so we are also willing to live with it when not only the extent of injury is in question but also the type of injury.

d. Overall, Cardozo’s approach has not won a wide following as a substitute for proximate cause analysis.

e. Helps us to understand key-in-the-car cases. Traynor refused on common law grounds to impose a duty on owner vis-à-vis the P who is injured by thief who steals the car. The issue there is properly understood as one of duty – there is no duty to P in those situations. Courts can carve out bright lines of no duty – see “pockets of no duty” section above.

f. Restatement on the “substantial factor” test. Restatement (Second) §431. “The actor’s negligent conduct is a legal cause of the harm to another if: (a) his conduct is a substantial factor in bringing about the harm, and (b) there is no rule of law relieving the actor from liability because of the manner in which his negligence has resulted in the harm.”

g. Mitchell v. Gonzales (California). 12-year-old drowns while vacationing with D’s family. California conflated the two aspects of causation (but-for and proximate) and let the jury determine causation in general. D worried that may encourage jury to impose liability even though D’s action was not a but-for cause. Court concluded jury instructions were prejudicial because they “overemphasized the condition temporally closest to the death.”

i. Some jurisdictions, like California, have adopted the substantial factor test for both aspects of causation.

h. Nitroglycerin hypothetical. Nitroglycerin is placed on a table negligently. Child knocks it off the table and it does not explode but hurts child’s foot by falling on it. D would not be liable for leaving can of water on table. Since the risk that materialized was unrelated to the explosive power of the nitroglycerin, P could not recover.

13. Negligent infliction of emotional distress. If somebody is assaulted, he can recover for fear and fright. Other than that, there is no tort for negligent infliction of emotional distress. Perhaps the exception was made because of state’s interest in preventing fights from breaking out.

14. Recovery for negligent infliction of emotional distress and subsequent physical injury.
a. Mithcell v. Rochester Railway Co. P was frightened when D’s horses came close to her so that she was between them. Incident caused a miscarriage. Court of appeals rules that D isn’t liable because it wasn’t the proximate cause of miscarriage – it was due to an unusual combination of circumstances. Bad decision.
i. Court also says there is an administrative issue – flood of litigation where injury can be feigned.
ii. If horses had touched her (even very lightly), court would have said there was liability. Court thus draws a very crude and arbitrary line.

b. Dulieu. P gave premature birth to her child after nearly being over by D’s horses while working behind the corner in pub. Court rejects the Mitchell rule, and holds that D can be held liable because P was in the zone of danger. No touching required.

c. Dillon v. Legg. Mother saw daughter hit by a car. She was not touched or in the zone of danger, but was on the scene. CA Supreme Court says that the zone of danger rule doesn’t apply if a close family member is outside the zone but sees a family member get injured/killed. They establish up a reasonable foreseeability test, which includes proximity to scene of accident, relationship to victim, and directness of injury.

i. Dissent discusses the problem of multiple plaintiffs claiming to suffer from emotional damages. This may cause a person who should legitimately recover may be under-compensated because money is gobbled up by an aunt who shouldn’t really be compensated. There is also the potential for falsification of claims.
d. In Thing (CA case post-Dillon), mother didn’t witness the injury and court refused recovery. P needs to be closely related to victim and present at injury-producing event. (Third requirement is that as a result, P must suffer emotional distress.)

e. Tobin. P suffered “physical injuries caused by shock and fear” when her son was injured in automobile accident. She did not see accident but heard the screech of brakes. Court denies cause of action, because P must either be in zone of danger or else a close relative on the scene.
f. Dunphy (in NJ) kept requirement that P must have witnessed death, but allows unmarried cohabitants to recover.

g. Emotional distress for exposure to toxic pollutants. Courts grappled with this issue in Firestone. It is hard to meet the “more probable than not” test, so plaintiffs push for a reasonable apprehension test. This is one of the battlegrounds in negligent infliction of emotional distress.

i. Firestone court required that the P “pleads and proves that the fear stems from a knowledge, corroborated by reliable medical and scientific opinion, that it is more likely than not that the feared cancer will develop in the future due to the toxic exposure.”

ii. In Firestone, court allowed recovery on the strength of “increased risk” test because of D’s systematic violation of statutory and internal policies.

V. Causation

A. Contributory negligence.
1. Butterfield (English case, 1809). P was riding his horse from pub, D was doing work on his house which obstructed the road. P’s harm was caused both by D’s obstruction in road and also by P’s fast riding. The contributory negligence rule in this case favors D, does not allow P to recover.

2. For PF case, P has burden of pleading and proving all of the elements. For affirmative defense, D has the burden. The same techniques for determining negligence arise on D’s side as on P’s side – all the elements (res ipsa, reasonable person standard) come into play for determining P’s negligence.

3. Contributory negligence arises either when there is either unilateral harm, bilateral care or else bilateral harm and care. Both parties’ conduct risks harm, and both need to take care.

4. Alternatives if both P and D are negligent:

a. D 100% liable

b. P 100% liable

c. Split it 50/50

d. Examine PL of P’s negligence versus PL of D’s negligence

e. Comparative fault – how far short of care they come

f. Liability can be inverse to costs of care
5. Arguments for contributory negligence
a. Incentives argument: Without contributory negligence P would not have incentive to take care
6. Arguments against contributory negligence
a. Increased administrative costs

b. Justice-based arguments: Common law thought P was a wrong-doer, and wouldn’t use mechanisms of legal system to shift the loss even partially in favor of a wrong-doer.
7. Beems. Court rejects contributory negligence defense in case where decedent was killed while trying to uncouple the tender from a car. Shows that contributory negligence was not applied in especially harsh ways.

a. Today worker’s comp has supplanted the tort system – workers who are injured on the job can recover against employers on no-fault basis. Negligence of both parties is irrelevant – it’s an administrative system, not a court system. Worker’s comp is exclusive – if employee’s only recourse is worker’s comp, he cannot bring a tort claim.
8. Gyerman v. United States Lines Co. P (employee of Associated Banning Company) is injured by negligently stacked sacks while working in D’s warehouse.

a. D argues that P is contributorily negligent because he had the right to refuse to work under dangerous conditions.

b. Trial court held that P was contributorily negligent because he didn’t follow union rules of stopping work and telling supervisor. He went to US Lines higher-up, when his contract said he could go to American Banning supervisors.

c. Appellate court reverses on the ground that even if he had told American Banning supervisors, the situation would not have been fixed. Although P was negligent in failing to report, D must also show causation. This is the Grimstad (life preserver) case in the context of an affirmative defense. D has burden of making prima facie case on each of the elements, and burden of persuasion.

9. Contributory negligence and breach of statutory duty.
a. P cannot waive statute enacted for his protection – Osborne v. Salvation Army.
b. Contributory negligence should not be a defense when D breaches statutory regulations – Koenig v. Patrick Construction Corp. This is because workmen usually have no choice except to work with the equipment at hand.

10. Contributory negligence and private necessity. Person faced with emergency who acts without opportunity for deliberation to avoid an accident may not be charged with contributory negligence – Raimondo.

11. Contributory negligence and causation.
a. Smithwick v. Hall. Workman was warned by D’s foreman not to work on east side of D’s icehouse. There was no railing on east side, so P worked there, being careful not to slip. The whole front of icehouse buckled and P was knocked from platform. P thought D was warning him not to go there because of lack of railing – because of vagueness of instruction, P’s injury did not fall within range of risks to take care for.

12. LeRoy Fibre. P owned land next to a railway track, kept straw 70 feet from track. Sparks flew from railroad, catching hay on fire.

a. Railroad asserts contributory negligence as affirmative defense – P should have placed hay further back from sparks. Court rules that P’s property rights should not be limited, even though the result is inefficient (because it would be cheaper for farmer to move straw). This is a significant exception to general applicability of contributory negligence.

b. To avoid inefficiency, railroad could pay farmers to move hay away from track, as per Coase.

c. Holmes’s dissent. He says that if non-negligent sparks traveled up to 80 feet and negligent sparks more than that, and hay was 70 feet from the track, then railroad would not be liable. Question is whether the harm would have occurred even if the railroad had been operating non-negligently.

13. Derheim, “the seatbelt defense.” P collided with D’s truck when D was making an illegal left turn. P was not wearing a seatbelt. D argues that his liability for injury should be reduced because of P’s failure to wear seatbelt. Even though he was the cause, P could have reduced damage through wearing seatbelt. Court rejects D’s argument Poor decision.
a. Washington Supreme Court gives several reasons for its decision, including lack of statutory requirement, the fact that some cars don’t have seat belts, the thin skull doctrine, that contributory negligence is a complete bar (which would be unjust), it would be too complex and courts would have dueling experts.

b. Decision by NY Court of Appeals, which rejects Derheim, is much more persuasive. P should use seatbelt to minimize damage he would suffer in an accident – equivalent to the doctrine of avoidable consequences.
B. Assumption of risk (P deliberately encounters known risk)

1. Five different kinds of situations may arise:

a. D negligent, P waives tort right by contract (P buys season pass to D’s ski resort, signing a contract which explicitly waives liability for ordinary negligence by D. P falls and is hurt on trail that is unduly icy due to D’s negligence) – it is still a complete bar, but courts are hesitant to recognize it
b. D not negligent, P not negligent (D, an intermediate skier, skis carefully down a properly maintained intermediate trail but falls and injures himself)

c. D negligent, P not negligent even though he encounters a known danger (P, a beginning skier, sees that the next stretch of beginner trail is badly iced due to D’s negligence. The only way down is a steep expert slope that is more hazardous. P proceeds down beginner trail, falls because of ice, suffers injury)

d. D negligent, P negligent (P, a beginning skier, encounters 2 beginner trails, one unduly icy because of D’s negligent maintenance. P skis down improperly iced trail, falls, is injured)

e. Assumption of risk (P, expert skier who loves challenges, encounters two trails, one well-maintained and the other negligently maintained with very icy slope. P choose negligently maintained slope, skis with all possible skill, but falls and suffers injury)

2. D is negligent, P by contract waives his tort rights.
a. Smith v. Baker. Bramwell argues that P knew the job was dangerous, so he got a compensating wage differential. There was no actual proof that P waived tort rights.

i. Court would decide differently today because there is no proof that bargain between the parties precludes compensation in the event of injury.

b. Russo. P injured while riding down giant slide owned and operated by D. Ticket read on reverse side “The person using this ticket so assumes all risk of personal injury.” Regardless, court refused to grant summary judgment on assumption of risk because there was no written contract exonerating D of all liability.

c. Fireman’s rule. Extends to police officers and all officials charged with maintaining public order. Recovery is barred for injuries incurred when P responds to fire alarm or request for police assistance brought about by negligent or criminal conduct of D.

i. Rationale: Weintraub explained in Krauth that risks are part of the job and therefore the fireman gets a compensating wage differential.

ii. Limits to fireman’s rule. In Donohue, fireman entered negligently maintained building during fire safety inspection and slipped on wet, slick steps. Suit not barred by fireman’s rule because it does not bar recovery for independent acts of misconduct which were not the cause of P’s presence on the scene.

3. D not negligent, P not negligent.
a. Murphy. The Flopper case – an amusement ride called the Flopper, in which people fall down as they ride. P fell and broke his knee, claimed that D should be liable because there was a jerk that caused him to fall. Court rules for D because P knew that the ride caused people to fall and willingly participated.

b. Cardozo rejects the uncharacteristic jerk argument. P’s theory here is res ipsa, but an escalator is not supposed to jerk (as per Colmenares), while the Flopper is.

4. D negligent, P not negligent even though he encounters a known danger.
a. Marshall v. Ranney. D’s mad boar bit P. Trial court said he was contributorily negligent by choosing to walk to his own car on his own property, and by not shooting the boar. Appellate court reverses trial court, saying that P can recover. Trial court’s decision would make P “a prisoner inside his own house.”

b. Lamson. Axe falls and hits P in his employment as hatchet painter. Holmes says there is no recovery because P was aware of the risk.

i. This is the equivalent of the Gyerman case (where P is able to recover even though he was negligent in not telling supervisors about dangers). In Gyerman, P was negligent but his negligence was not the cause of his injury because there was no proof that supervisors could have repaired situation – thus P’s negligence did not cause the injury. Thus, today we would not find that P was negligent.
5. D negligent, P negligent. D not liable in this case, as per contributory negligence/comparative negligence rules. Many cases like this under the common law.

a. Meistrich. P fell while skating cross-handed in a negligently iced rink. D was negligent in preparing the ice, but P was negligent in skating cross-handed even though he knew the ice was poorly maintained. Thus, court said that jury could find that he carelessly contributed to his own injury.

6. D negligent, P assumes risk – D not liable. See Lamson case above. Although it would be decided differently today, Holmes felt that it fell into this category. Also see the skier hypothetical above.

a. P might not be negligent in going down the slope – it may be rational to know it’s dangerous and yet to love danger. P not necessarily negligent, but does assume the risk.

b. Average skier who perceives the risk accurately but decides to go down the trail has assumed the risk. It is an informed and voluntary decision to proceed with the risk, negating D’s negligence.

7. Primary situation of assumption of risk is when D is not negligent, P is not negligent. Secondary situation is when D is negligent, P is negligent.

C. Comparative negligence.
1. Justification for making P’s negligence a bar to liability under contributory negligence:

a. Moral argument – P was a wrongdoer so should not recover

b. Notion of causation – both P and D caused the injury, and law cannot properly untangle causality

2. Two exceptions to contributory negligence:
a. Last clear chance doctrine: P’s negligence got him into danger, but D is the last active force that has the ability to avoid the harm and negligently fails to do so. Example: P negligently sits on tracks, D’s employees recognize the situation and could avoid it by taking care, but fail to do so. Railroad liable for 100% of P’s injuries.

b. D’s negligence is wanton and willful – at some point court says that D was so negligent that its negligence was different in quality than that of P.

3. Li v. Yellow Cab Co. of California.

a. California court rules on four major things:

i. Comparative negligence superior to contributory negligence

ii. Civil code doesn’t stop judicial action in changing scheme from comparative to contributory negligence

iii. Practical difficulties shouldn’t stop them from charting a new course

iv. Should apply comparative negligence in its “pure” form

b. Two forms of comparative negligence:

i. “Pure” form – P should recover even if his fault was greater than D’s. Most jurisdictions have adopted the pure form.

ii. Other forms – when P’s negligence is greater than or equal to D’s, P cannot recover

c. How do we assign comparative responsibility? California Supreme Court initially suggested it was based on causal responsibility, but after feedback they substituted negligence in standard legal sense.

i. At least one jurisdiction (PA) utilizes causal responsibility, expected PL from A’s conduct versus PL from B’s conduct.

ii. Li court says fault instead of causal negligence. Causal negligence is expected harm, while fault is degree of negligence – how far below the standard of care party’s behavior was.

d. Li court says last clear chance doctrine does not survive. They instead merge it into comparative fault. Most jurisdictions have followed Li in this regard.

e. Li court decides to also merge willful and wanton into comparative negligence, but other jurisdictions maintain it as a separate doctrine.

i. Sorenson – court rules that P’s recovery is diminished by her own negligence even though P’s conduct was willful and wanton.

ii. Other jurisdictions reach different conclusions. Burke (Ill.) ruled that, due to qualitative difference between simple negligence and willful and wanton conduct, P’s negligence cannot be compared with D’s willful and wanton conduct.

4. Comparative negligence example. There is an accident. A is 60% at fault and loses $5,000. B is 40% at fault and loses $10,000.

a. Under contributory negligence, neither would recover because they are both negligent.

b. Under comparative negligence, B recovers $6,000 and A recovers $2,000, based on their proportion of negligence and damage caused.

5. Result of comparative negligence doctrine.

a. More administrative costs and more lawsuits.

b. Parties still have incentive to take care – D to avoid liability, P to avoid uncompensated injury to herself.

6. “Impure” negligence varies from jurisdiction to jurisdiction. Some examples:

a. Idaho: P can recover until his negligence is the same as D. (P does not recover if it is a 50/50 split.)

b. Wisconsin: P can recover if his negligence is not greater than D’s. (Each recovers in a 50/50 split because its negligence was not greater than that of other party.)

c. Typically a special verdict is used to assess the comparative fault and solve jurors’ confusion, separating out comparative fault and damages of each party.

d. Sometimes there may be a functionally absent party because it cannot be brought into the jurisdiction.

7. Knight v. Jewett. Assumption of risk applies in California despite comparative negligence regime. P injured pinkie in co-ed touch football game and had to have it amputated. She claimed D was at fault for being too rough. D says that a reasonable implied assumption of risk protects him from liability. He says his conduct was neither reckless nor unforeseeable.

a. California Supreme Court finds that playing touch football bars recovery unless there is reckless conduct outside normal range of activity.

b. P cannot recover – D did not breach duty to P because duty on sports field is different than on the street. A degree of roughness is inevitable and perhaps even desirable in the game. If you choose to play, then you accept the risks.

c. Court says that implied risk is unrealistic – just because you agree to an activity doesn’t mean that you agree to a breach of duty. If it was a touch football game and D stiff-armed P, he would not be able to argue that she assumed the risk.

d. Dissent says that assumption of risk should be a complete defense to liability because of consent.

e. Trend in most jurisdictions is to not recognize separate defense of assumption of risk once there is a contributory negligence standard.

8. Intentional torts.
a. In Munoz, where wrongful death action was brought against policeman who shot the decedent, court said comparative negligence principles were misplaced because if Munoz’s actions gave rise to the reasonable cause to arrest and to believe it was necessary to employ deadly force to effect that arrest, then there was no liability – if not, there should be full liability.

b. Blazovic reached the opposite conclusion. Found that comparative negligence can govern intentional tort cases – different levels of culpability inherent in each type of conduct will merely be reflected in the jury’s apportionment of fault.

9. Violation of safety act.

a. In Hardy, court decided that comparative negligence could apply to P who continues to work in unsafe conditions, because he must take some responsibility for those conditions. They had not allowed the defense under contributory negligence regime, because it would have totally barred recovery.

10. Avoidable consequences.

a. In Ostrowski, D physician argued P should not recover for complications following operation, which could have been avoided if P had quit smoking as doctor told her to. Court held that comparative negligence principles applied to P’s failure to mitigate damages.

11. Imputed negligence.

a. In Schmidt v. Martin (pre-comparative negligence case for wrongful death action brought by decedent’s parents against driver of the other car), court refused to impute negligence of D’s uncle in driving car while babysitting decedent.

b. Under comparative negligence, parents would have to successfully sue both driver of other car and uncle to attain full recovery.

VI. Joint Tortfeasors

1. Applies in situations where there is P and multiple defendants.

2. Different situations with joint tortfeasors:

a. Joint causation. Both are necessary for injury, neither P alone is sufficient. For example, in Smith v. J.C. Penny, careless smoking by employee and flammable coat were both necessary for P’s damages. P can sue both defendants for entire amount. They are joint and severally liable for the entire amount. She can enforce judgment against whomever she wishes. If she holds one D liable for entire amount, he can later bring an action against other D. See below.

b. Concurrent causation. Two fires bearing down on a farmhouse. Either fire sufficient to burn the house down, but neither is necessary because house would have burned anyway.

c. Alternative causation. Example is Summers v. Tice, where P was shot in the eye by one of the two defendants, but doesn’t know which one.

3. Joint and several liability. P gets 100 percent recovery, and can choose how she wants to recover damages from defendants.

a. The classical case is Smith v. J.C. Penny, above.

b. If one D is insolvent and the other is a deep pocket, P can recover from the deep pocket.

c. Maddux v. Donaldson. Two successive negligent defendants. D1 smashes into P, and then D2 smashes into P. Total damage to P is $100,000. In principle, D1 is liable for the entire amount. There is “but-for” causation, as P’s car was disabled and wouldn’t have been hit if not for D1.

i. D1 argues that he wasn’t proximate cause of second collision (D2 was proximate cause). However, he is liable for all of the injury, including the damage that D2 did.

ii. In principle, D2 is liable for the damage that resulted from D2 hitting P’s car.

iii. Maddux shows that successive acts of negligence may be treated as a joint tort. It is left to defendants to squabble about who was responsible for what harm.

d. Modern trend is to make defendants jointly liable for entire amount unless one or both can persuade trier or jury that the damage can be apportioned.

e. Reason for trend toward joint liability is to ensure that P is compensated.

4. Several liability. Liability is divided between the two parties.

a. It most likely comes up where there is divisible harm, as per Restatement §433A. Examples given in the Restatement are:

i. Cattle of two or more owners which trample parts of P’s crop, such that damages can be apportioned among defendants – D1 responsible for its cows, and D2 for its cows.

ii. Pollution from different sources which may be treated is divisible in terms of degree.

b. Matter of Bell Petroleum Services. P said the harm was indivisible. One D says a reasonable way to determine liability is to divide up the length of ownership, and court accepts this argument.

5. Concurrent cause. Each is a sufficient, but not necessary cause.

a. Kingston v. Chicago. Two fires – a NE fire and a NW fire. The NE fire is the railroad, which is negligent. NW fire’s origin is unknown. If second fire was natural, railroad wouldn’t be liable because house would have burned anyway due to natural causes. If other fire is human-caused, defendants won’t be absolved of liability – each D’s action would be sufficient but not necessary to cause the harm. Court says that P need not find the cause of both fires – they presume the other fire is of negligent human origin, and burden shifts to D to prove that it’s natural.

Concurrent causation

	Fire 1 negligent, fire 2 natural
	No liability – no causation

	Fire 1 negligent, fire 2 negligent
	Joint and several liability

	Fire 1 negligent, fire 2 unknown
	Kingston – fire 2 presumed negligent

	Fire 1 and 2 negligent, fire 1 arrives first
	No clear brightline – time between the fires may vary. (If fire 2 comes 5 minutes later, D2 will probably be liable. If it comes 2 days later, D2 probably not liable.)


6. Concert of action. 2 or more actors act together for a common purpose.

a. Accomplice is found jointly and severally liable.

b. Does not necessarily have to occur in the context of industry.

7. Alternative liability. Don’t know which D caused the actual harm.

a. Summers v. Tice. Two defendants hunting quail with P. Both defendants negligently shoot in P’s direction. He is hit but doesn’t know who hit him in the eye. He’s hit in the eye and the lip – the eye is the bulk of the damage. Trial court rules against both defendants, and on appeal court rules that judgment can stand. Each D is jointly liable for whole damage – to get out of it, D must prove that he didn’t hit P in the eye.

b. Different than the hypothetical where two railroads started fires, and either one would have burned the house. Here only one caused injury, but we can’t determine which one.

c. Court says that inability to prove who caused injury is not P’s fault – D’s negligence created this evidentiary quandary, so they are jointly liable.

8. Industry-wide liability.
a. Hall v. du Pont. 13 infant plaintiffs, all injured in separate blasting cap accidents, sued each of six corporate defendants.

b. Court decides to treat it as a kind of concert of action theory. They hold the industry group liable because they cooperated as a trade association in creating safety standards for their caps. As long as the six defendants constitute more than half of the production in the industry, they can be held jointly liable as a group. The odds are that the caps manufactured by one of the group caused each of the 13 injuries.

c. It is up to the manufacturers to prove that they were not responsible individually. With 6 defendants, the probability that a given D’s cap caused the injury is only 1 in 6, as opposed to Summers v. Tice, where it is one in two.

d. Criteria for industry-wide liability:

i. Generic product – can’t tell who manufactured it

ii. Majority of the industry involved as defendants

9. Proportionate liability – Sindell. Woman sues over drug (DES) her mother took which creates a number of birth defects. The FDA tested on mothers, but did not know about the latent effects the drug would have on daughters.

a. She brings suit against a number of companies. 5 are left by the time it gets to the CA Supreme Court. There are several hundred manufacturers, though, who at varying times and in varying amounts produced DES. She seeks compensatory and punitive damages for herself. There is also a class action where defendants are faced with possibility of massive damages. She also wants equitable relief for other members of the class – free clinics set up for testing purposes.

b. The court below dismissed because she couldn’t show causation. Records weren’t around from when her mother was taking it, so she couldn’t show that any particular D manufactured the products her mother took.

c. P has 3 arguments why she should recover even though she cannot show causation:

i. Put presumption on manufacturers to prove they didn’t do it, similar to Summers v. Tice. Unlike Summers, however, we only have a fraction of the total manufacturers before court – whereas in Summers there were only two potential defendants who caused the harm. Making them jointly liable is going too far because one manufacturer could be liable for the entire market share of damages.

ii. Manufacturers were acting in concert to cause injury. However, there was no proof that they assisted one another in development of the drug.

iii. Industry-wide liability. Similar to Hall v. du Pont. Court reject this argument, however, because the same kind of coordination of safety standards does not exist in the present case.

d. Court holds that each manufacturer is responsible for its percentage of market share.

e. Orphan’s share: There are 7 defendants and each represents 10% of the market. P has $100,000 in damages. There is proportionate liability – each D is liable to P based on the probability that that D’s DES is the one her mother took. What about the remaining 30% that none of the manufacturers are responsible for?

i. Sindell makes defendants pay P the orphan’s share in proportion to their respective market shares.

ii. Brown limits Sindell, making P assume the orphan’s share. Brown court says the logic of proportionate liability is not joint and several – this is a divisible risk of harm, and each D is liable for its share of the entire market.

f. Hymowitz (NY), in adopting a system of proportionate liability, excludes exculpatory evidence. It may seem unfair not to let D prove that it didn’t cause a particularly harm, but if there are many cases then the injustice will even out over time (D will be overcharged this time but undercharged the next).

g. Richardson’s dissent. He has two major criticisms:

i. P can recover from D even though it is mathematically much more likely than not that D played in role in causing P’s injury. (Not a sound criticism due to proportionate nature of liability – if mathematical chance of causing injury is small, so too are damages D has to pay.)

ii. Decision imposes disproportionate liability on those manufacturers who are subject to suit in California. (A sound criticism.)

h. Problem with Sindell – records. We may not have reasonable records of market share, so P may have burden of establishing proportionate risk from each D. Thus, to the extent that we’re uncertain about market share, we assume equal division among the defendants, as per the McCormack decision (if there are five defendants, and one shows an actual share of 12%, then the other four are liable for 22% apiece).

i. How should market share be constructed – by state, or national market? National market makes sense, but only if every state implements a uniform approach (so that disparity between liabilities in any specific case will even out over the entirety of cases). Hymowitz adopts a national market-share approach. Under national market approach, if a D shows he did not sell DES in California at the time of injury, that would not absolve him of liability.

· Main reason there won’t be a national market approach is political inertia. (Uniform approach too difficult to attain politically.)

j. Courts hesitant to extend Sindell beyond DES to other mass torts:

· In Starling, court stressed nonfungible nature of asbestos products, which breaks any correspondence between total volume of asbestos produced and injury caused. Also, there are different levels of susceptibly, based on whether P is a smoker, for example.

· In Shackil (infant plaintiff’s seizures caused by pertussis component in DPT vaccine), court refused to extend market share doctrine to DPT vaccine because they are not all prepared in the same way.

10. Situations that give rise to joint and several liability:
a. Joint causation (indivisible harm)

b. Concurrent causation

c. Alternative causation (Summers)

d. Concert of action

e. Industry-wide action (Hall)

f. Proportionate liability (Sindell)

11. Right between codefendants. What happens after one D pay the entirety of liability award?

a. Originally in common law there was no contribution between joint tortfeasors because they didn’t want to crank up the court system to aid a tortfeasor and because they felt they couldn’t determine liability of one D compared to the other.

b. Gradually an exception known as indemnity (100% loss-shifting) arose. Indemnity occurs between two parties, one of whom bears primary responsibility and the other of whom is secondarily liable. For example, if negligent employee causes injury, employer is liable to P on respondeat superior. Employer has a right of indemnity against the employee. In principle, the employer can go against employee to regain 100% of the losses to P. Often, when workers aren’t highly compensated, this isn’t a practical option for employer. But it does happen in the case of high-level employees.

c. Indemnity by contract exists – i.e. contractual relationship with waste site that company can recover 100% of what it paid to the government.

i. Gray v. Boston Light Co. Light fell on a traveler, who sued homeowner. Homeowner then went against the lighting company, who was primarily responsible because it installed the light negligently.

d. Hypothetical. Two negligent defendants – jury assesses relative fault at 75% for D1 and 25% for D2. P’s damages are $100,000. P can collect on that judgment as she pleases because it’s joint and several liability. She goes against D2, who has to pay the full $100,000. Thereafter, D2 can go against D1 for the $75,000. D1 must pay D2 its proportionate share based on comparative fault.

12. American Motorcycle Association. P was injured in a novice motorcycle race and brings suit against the AMA and Viking Motorcycle Club. AMA files a cross-suit against P’s parents for allowing him to participate.

a. AMA is trying to get court to not apply joint and several liability due to comparative negligence rule. The argument is that, if court can divide responsibility between P and D under comparative negligence, they should do it in the case of multiple defendants who caused the harm. Liability should be divided based on comparative fault. AMA would pay a lot less if there were four negligent defendants. It is trying to reduce its liability by bringing in other parties.

i. Court rejects AMA’s contention. Court doesn’t create several liability among the wrongdoers because it could prejudice D’s ability to get full recovery.

ii. A few jurisdictions have decided differently. In Brown v. Keill, court found the Kansas comparative negligence statute to abrogate the traditional rule that held concurrent tortfeasors jointly and severally liable. In general, the AMA court is more persuasive absent a statute, because it is important that P get full recovery.

b. Second issue in AMA is partial equitable indemnity. If AMA is forced to pay the whole judgment, its rights against the other defendants are governed by statute which provides for a right of contribution on a pro rata basis.

i. California Supreme Court, however, wants to divide up contribution based on fault. It says that the statute does not impair a right of indemnity, and they create the new doctrine of partial equitable indemnity.
ii. In most jurisdictions without a statute like California’s, the contribution among joint tortfeasors is based on comparative fault. California’s rule is contribution by any other name.

c. Problem with AMA. Hypothetical where $100,000 in damages have been done. P is 30% at fault, D1 is 60% at fault, D2 is 10% at fault. D1 is outside the jurisdiction. If you follow AMA, P can recover $70,000 from D2. The problem is that P is three times more at fault than D2.

i. Evangelatos adopts the Clark dissent. Under that hypothetical, D2 would be liable for $25,000 based on their relative comparative negligence.

ii. However, if P were not at fault and D2 were still only 10% at fault, she could recover full damages from D2 if D1 were insolvent or absent.

d. Contribution in strict liability and negligence. In Safeway Stores, Inc. v. Nest-Kart, P sued Safeway on negligence principles and Nest-Kart on SL principles. Jury found Safeway 80 percent responsible and Nest-Kart 20 percent responsible. Safeway introduced a motion to apportion losses evenly because no principles of apportionment could operate with negligence and SL theories. Court rejected this argument because it led to bizarre results. A negligent D would be better off than strictly liable D, because negligent D could shift the loss to negligent co-tortfeasors, while strictly liable D could not – an obviously unjust result.

e. There are exception to joint and several liability where negligence of one D relative to the other is very small.

i. California exception. There is J & S liability for all defendants for economic damages (medical costs, lost earnings), while for non-economic damages (pain and suffering), liability is several. Reason for the exception: Deep pocket defendants have occasionally been found only a small percentage at fault, but have been hit by all the liability. Due to this, government lobbied for a change in the law.

ii. Exception by statute. NH statute provides several liability for D who is less than 50 percent at fault. There are statutory exceptions in several jurisdictions.

13. Settlement. Hypothetical: $100,000 in damages. D1 is 70% responsible, D2 is 30% responsible. P settles with D1.

a. Four basic rules of settlement:

i. No contribution

ii. Contribution

iii. Good-faith settlement is a bar

iv. Carve-out or claim reduction.

b. No contribution. If settlement with D1 leaves P $40,000 short of full recovery, she can recover $40,000 from D2. Sometimes called the pro tanto rule. She can recover more from D2 than he should have paid.

i. Encourages settlement so that party will not have to pay more than its proportionate share of fault.

c. Contribution.  If settlement leaves her $40,000 short, she can recover full amount from D2. However, D2 can secure contribution from D1 based on comparative fault.

i. Discourages settlement because party that settles first does not buy peace. You can save litigation costs by settling, but also want certainty.

d. Good faith settlement bar. Good faith settlement is a bar to contribution. No contribution is available to D2 from D1.

i. Prevents situation where P who is friend of D1 settles for $10,000, and D2 is stuck with $90,000 liability. Courts are pretty deferential to the settlement, however, because result of trial is so uncertain.

ii. Most states have gravitated toward this regime.

e. Carve out rule. If P chooses to settle with one of the parties, her recovery against the other is limited to that party’s share based on comparative fault. Contribution question no longer applies because D2 never has to pay more than his proportionate share.

i. Discourages P from settling because she later may be able to recover less from D2 since jury thinks that’s all that is justified.

VII. Damages

1. Two considerations:

a. Justice-based corrective (restore equilibrium between the two parties)

b. Social welfare (incentives, risk-spreading, administrative costs)

2. Two major components of damages:

a. Economic loss (medical expenses, loss of income)

b. Pain and suffering

3. Jury has a lot of discretion and in practice may hit D for a large amount of damages when it considers D’s conduct to be reprehensible.

4. Economic loss (medical cost and lost wages)

a. One problem is projecting future medical costs and future lost earnings. Today’s award is supposed to cover expenditures for medical expenses over a period of years into the future.

b. Need to take into account the fact that the award can be properly invested so it will grow.

c. There are also inflation and interest rate components. These are only wrinkles – however, they must be addressed.

d. Tax complications.
5. Pain and suffering.

a. Argument against having pain and suffering damages. From an economic viewpoint, it’s not rational to insure against pain and suffering, confirmed by the fact that people don’t buy insurance in the private market against such losses. From a risk-spreading viewpoint, it is not appropriate to provide this additional component of recovery, especially considering the expense of the tort system.

b. Argument for pain and suffering damages. From an incentives viewpoint, pain and suffering is a real loss even though it can’t be compensated by money, just like death. Since tort system provides incentives for actors, we want to include not only economic but also other types of losses (such as pain and suffering) in the damage awards in order to give the proper incentives.

6. Remittitur and additur.
a. These modify jury verdicts. If judge thinks damages are against the weight of the evidence, he can grant a new trial. Remittitur allows P to keep her verdict if she agrees to a certain reduction in damages. Additur allows D to avoid a new trial by agreeing to increase the award by some amount set by the court. Appellate courts then review the additur or remittitur.

b. Firestone court abolishes the practice of remittitur because its application constitutes an invasion of the jury’s function by the trial judge.

c. It has been suggested in the US that juries be advised of the range of damages in similar cases. Some jurisdictions have adopted this practice.

d. In the UK and Canada, there are scheduled damages for pain and suffering. Previously in Canada the maximum award for pain and suffering was $150,000 for a quadriplegic, scaled down thereafter. This probably won’t happen anytime soon in the US, but instructing juries does occur.

7. Contingent fee arrangement.

a. One reason large pain and suffering awards are allowed in the US is to pay the lawyer. P often agrees to pay lawyer a certain percentage of the recovery (contingent fee arrangement), and will not be made whole if she is only awarded her economic loss.

b. Despite criticisms abroad, contingent fee arrangement is a reasonable way to finance litigation. A lot of plaintiffs could not file suit absent the contingency fee basis.

c. Incentives under contingency fees. Lawyer paid on contingency basis won’t have incentive to run up hours like he might if paid on hourly basis. However, the danger is that he will have an incentive to settle more cheaply with very little work.

8. Tort reform movement of 1970s and 1980s in response to concern about escalation of awards.

a. One approach was to impose caps on awards (and in some states on total recoveries). An outrageous move because damages may be much greater than the capped amount – it could run into the millions in medical costs alone.

b. Other states (such as California) have implemented caps on pain and suffering awards.

c. Another response is structured settlements, where P accepts installments of the award as opposed to a lump sum up front. 

d. There has also been regulation of contingent fee awards on a sliding scale in some states. For example, lawyer gets one-third of first $100,000 and after that the percentage decreases.

9. How litigation is financed in other countries (without contingency fees)

a. Legal aid

b. Fee shifting – in all jurisdictions except the US, winning party recovers attorney’s fees and expert witness fees from the losing party. People can recover costs here, but only court costs (cost of filing, etc.). They do not recover attorney’s fees or expert witness fees.

c. There is less litigation in the English system, and less non-meritorious claims because parties are afraid of paying the others party’s fees and running up large bills if they lose. English system encourages settlement.
d. There is more innovation in the American system.

10. Collateral source rule.
a. P may have insurance to cover economic loss. The issue is whether D can invoke those payments to reduce P’s economic loss. General rule is to not take those extra sources into account – should not absolve D of liability just because P paid for insurance premiums or the government has a program. From an incentive viewpoint, it is desirable to hold D liable for the entire amount.

b. Having insurance does not let P recover more than 100% of her damages. The doctrine of subrogation entitles insurance provider to a portion of P’s damage recovery equal to the payment made by insurance company to P for the injury. Often, however, the insurance company does not go after small amounts (i.e. $10,000).

11. Wrongful death.

a. It is a statutory arrangement. At common law, decedent had no claims. Wrongful death is a different motion – injury is done to third parties in the form of economic loss based on the net earnings that deceased could have made during his or her remaining lifetime. Who can bring the action depends on the particular state’s statute. The estate can sue if damages and pain and suffering have not yet been awarded at the time that the victim dies.

b. Wrongful death award goes to estate and heirs.

12. Punitive damages.

a. Unique to America. In a civil case, without the safeguards of a criminal trial, on a more probable than not standard, the jury can award tens of millions of dollars for a punitive purpose even when there is no crime.

b. Punitive damages are extraordinarily problematic. 

c. They increase chance of settlement, because plaintiffs usually include punitive damages in a suit against deep pockets.

d. Punitive damages exist to convince D to take care. If everything goes right, D faced with full damages for injury will take precaution.

e. Another rationale for punitive damages is in cases where there has been fraud or concealment. This is the case in Pacific Mutual Life Insurance Co. v. Haslip.

f. Punitive damages may also be needed when compensatory damages alone do not deter – i.e. a rich person who likes driving very fast.

g. There is an argument that punitive damages should be paid to the state (because they do not have a compensatory purpose). But, if that were the case, punitive damages would not be brought as often.

h. Due process. There must be some rational relationship between amount of punitive damages and egregiousness of the D’s behavior. The court has struggled to deal with this through procedural safeguards:

i. Statutory limitations, like in Florida where punitive damages are limited to 3 times compensatory damages.

VIII. Modern Strict Liability

A. Strict liability application

1. Applies to abnormally dangerous activities.

2. P’s PF case:

a. D engaged in abnormally dangerous activity

b. Injury

c. Activity caused injury

d. Damages

3. Spano. P1 owned a garage which was wrecked by shock waves from D’s dynamite blast. P2’s car was in P1’s garage, and was damaged also. Damage was caused by a construction company blasting on city land.

a. Blackburn’s “true rule” doesn’t apply because it involves D bringing something dangerous onto his land, which then hurts P on his own land. Here, city land is not D’s land, nor is P2’s car on his own land.

b. NY Court of Appeals considers whether Booth (which only allows P recovery when some kind of debris ends up on his land) is still good law. It rules that the distinction between debris landing on land and not is arbitrary, and thus they impose liability.

4. Restatement’s position on abnormally dangerous activities. §520 – factors to consider:

a. High P (probability of harm)

b. High L (magnitude of loss)

c. Inability to eliminate high PL when care is taken

d. Not common usage

e. Inappropriate to place where it is carried on – if harm may be high in the location, perhaps we should impose SL to steer location somewhere else

f. Extent to which its value to community is outweighed by its dangerous attributes

Cost of blasting vs. cost of digging

	
	City
	Country

	Cost of blasting
	100
	100

	Accident costs
	30
	10

	Cost of digging
	120
	120

	Accident costs
	3
	3


Excavating company’s choice is affected by the negligence rule. Under SL, they will choose to dig in the city and blast in the country. Under negligence rule, they would choose to blast regardless.

5. Why don’t we impose SL on less risky activities?

a. Not worth it from incentive viewpoint to run up administrative costs of system, when risk can be eliminated or made very low by exercise of typical precaution.

b. Distributional justice. While the blasting company benefits from an activity that imposes high risks on others (and thus it would be unjust not to compensate those who are injured), distributional injustice doesn’t rise to a level that triggers intervention by the legal system in case of digging.

c. When accident cost is high, may be a good idea to use tort system to shift the loss. When accident cost is small, there is less of a justification.

6. What of Holmes’s arguments against SL?

a. They do not apply because the large residual risks are foreseeable – company knows or should know of them. Thus Holmes’ objections (about how it is unfair to punish somebody who does not know the consequence of his actions) don’t really apply.

7. Common usage. Driving automobiles may meet the other categories, but common usage of automobiles means they are not subject to SL. How is that relevant?

a. Not a distributional justice consideration – everybody gets the benefit, not just a few people.

b. Since so many people do it, on net it may be beneficial.
c. Question is not whether it is done frequently, but whether it’s done by lots of people.

8. Will modern SL standard over-deter socially beneficial activity?

a. Turner, where the court notes that in Texas there is a large social benefit to storing water.

b. Bramwell’s argument is that if good in question is valuable (like water in Texas), there is more reason to impose SL. People will buy the good and cover the cost of accidents that will occur.

9. Technology-forcing argument: prospective SL will force firms to find new safety technologies because of the liability that they face

10. It may be that ex ante, on balance the benefits to the members of society of allowing activity to continue are greater than the costs. Ex post, some members of society may have suffered serious harm. Can look at SL as a form of distributional justice among the members of society for these supposedly beneficial activities. Way to do that is impose SL on enterprise, which will then charge consumers to recover those costs as an overall form of social insurance.

11. Siegler. Gasoline truck ran off overpass onto roadway underneath and blew up, obliterating P’s decedent and her car. Issue is whether this should be governed by SL or negligence. Although negligence is the normal rule for highway collisions, the court adopts SL – gasoline inherently dangerous because it is flammable and can be explosive. Because it is such a large amount of gasoline, D can be held strictly liable. For this particular kind of activity, the residual risk is large.

a. Common usage doesn’t apply – would cut in if we were to consider gasoline explosions from regular cars.

b. Suitability of location – they are in the business of delivering gasoline – no alternative means of distribution. There may not be incentive to change location. However, there may be a good incentive for the company to hire better drivers.

c. Can also be seen as risk spreading – everyone benefits from gasoline distribution, a little more can be charged to each gasoline consumer to compensate those who are injured.

12. Indiana Belt Harbor R.R. Acrylonitrile belongs to American Cyanamid Co. and begins its journey in Louisiana. The Indiana Belt Harbor R.R. switches tracks in Chicago, where acrylonitrile starts to leak. They shut it down and clean up the spill, ordered by the Ill. Dept of Environmental Protection. They say that Indiana Belt Harbor R.R. is operating a hazardous facility and is ordered to clean it up, costing them $981,000. Indiana Belt Harbor R.R. goes after American Cyanamid – the equivalent of an indemnity action. They assert negligence and SL. Trial court grants summary judgment on SL claim. On appeal, Posner says that SL does not apply, using the Restatement factors.

a. High residual risk of harm if normal precautions are taken? Posner says the spill would be caused by negligence, not the various properties of acrylonitrile. Thus this is a good candidate for negligence.

b. Suitability of location. Posner says that Chicago is the best place – you could go around Chicago, but then there is more risk of an accident.

c. Indiana could bring group res ipsa with joint and several or proportionate liability based on the probability that the other carriers were negligent.

13. Directness. Causal chain may be broken by directness test, as per Madsen v. East Jordan Irrigation Co. (mother mink, scared by blasting, kill their young)

a. Today case would probably come out the other way because the fact that mink eat their young when scared is not unknown.

14. Yukon Equipment. Defendants were sued for damage caused by explosion of their storage magazine, which was located in Anchorage suburb. Damage was caused when four young thieves set off explosives to conceal evidence of theft. Court noted that storage of explosives was governed by strict liability, and incendiary destruction by thieves is not so uncommon that it could be thought of as extraordinary.

a. More typical of current SL cases than Madsen – there have to be pretty extreme facts to relieve D of strict liability. Proximate cause will not get somebody off the hook.

15. Restatement (Second) §519 – only an injury caused by the particular quality of the substance that makes it abnormally dangerous gives rise to SL. Thus, if an improperly placed explosive falls, does not explode and hurts an infant’s foot, no SL.

B. Affirmative defenses to Modern Strict Liability
1. Contributory negligence is not a defense against SL.

2. Assumption of risk: Restatement (Second) says that assumption of risk is a defense – P may be barred from recovery. We don’t have any cases to test the premise, however.

IX. Alternatives to Tort

1. Big picture
a. Over the last 30 or 40 years, there has been a shift from the traditional emphasis on corrective justice to a more welfare-based approach, which has been associated with expanding liability. There has a been a pronounced thrust toward a social welfare/engineering approach in many decisions to expand tort liability.

2. Incentive – the theory that people will take appropriate precaution to avoid liability. Arguments against the tort system:

a. People don’t really know/take into account tort rules

b. Under-deterrence – because of the existence of liability insurance, defendants don’t bear the full brunt of a liability award. Also many small tort claims may not ever be brought. There are also other barriers, like the causation barrier to environmental and health harms.

c. Over-deterrence – particularly for mass tort risks, insurance may not be available beyond a certain point, standard of care may be uncertain. Tort liability may over-deter socially beneficial activities.

3. Risk-spreading – large organizations should spread the costs to consumers and society. Arguments against tort system:

a. Third party liability insurance is more costly than first-party insurance.

b. Undercompensation in absence of negligence – those who are hurt when there is no negligence are just as much in need as those who are hurt when there is negligence.

c. Undercompensation and overcompensation:

i. small claims overcompensated

ii. large claims undercompensated

d. Litigation costs. Costs imposed on P.

e. Inequitable from distributional perspective. Costs of insurance through tort system are generally paid by consumers – bigger relative impact on poor people than on rich people. Thus, regressive in its financing.
f. Benefits distributed unequally. The wealthier get more in the way of damages.

4. Administrative costs of tort system:

a. High costs: We are paying a lot to shift damages from one party to the other, leading people to ask if this is the best way of achieving our objectives and what alternatives there might be.

b. Automobile insurance: High rates because of the high costs of the tort system in shifting loss. About half the money expended to resolve those cases is gobbled up by the lawyers. There are cross-subsidies within the system – drivers in NYC should pay a lot more than they do, but people with low risk end up paying more than they should in an actuarial sense. There is also a lot of fraud in the system.

c. We want to do contextualized justice between the parties, but that comes at the expense of increased administrative costs – we attract a lot more lawsuits. When we recognize contribution/partial equitable indemnity, we are adding still more litigation to the system.

5. Compensation:

a. American Bar Association opposed to the Department of Transportation study, which says that many people are not compensated through tort system. They say compensation is not the function of the tort system, it is supposed to achieve corrective justice.

6. Abel’s critique: The tort system promotes commodification by monetizing the P’s loss and her pain and suffering.

7. Fault-based critiques: There are also some critiques that the tort system is arbitrary – it bears no relation to fault. You can be only a little bit at fault and yet the compensation is still the same.

8. Collateral source rule. A can recover from his first-party insurer, then recover from B and B’s liability insurer. A’s liability insurer can go against A for the money that A recovered from B’s liability insurer once the verdict is announced, to try to recover the money that it doled out. But liability of B and its insurance company is not reduced in any way.

a. A’s first-party insurer has rights of subrogation, but may choose not to exercise its rights for small amounts ($50,000).

Total compensation for personal injury – C indicates that it provides compensation, I indicates incentives
	Remedy
	Percentage of compensation
	Transaction costs

	Tort (negligence, SL) – C, I
	8%
	50%+

	Worker’s comp – C, I
	6%
	30%

	Regulation – I
	N/A
	N/A

	Government insurance – C
	54%
	<5%

	Private first party insurance – C
	32%
	15%

	Contract – C, I
	N/A
	N/A


9. Three options for alternatives to tort:

a. Abolish tort liability – see New Zealand model below

b. Strict administrative liability (worker’s comp model). Targeting it on the employer probably provides better incentives to take care than compulsory no fault insurance.

c. Compulsory first party no fault insurance.

10. Worker’s comp.

a. What it is: Abolishes tort liability for on the job injuries (arising within the scope of employment). Employee doesn’t need to show any negligence on the point of the employer, and negligence of the employee is irrelevant.

b. No recovery for pain and suffering, only medical expenses. There may be a time limit about how many weeks of damages worker gets. The idea is to provide recovery for economic loss, but not analyze the fault of either party. For all states, it is an administrative system – worker doesn’t go to court, rather to an administrative employee to present the claim.

c. Issues that arise under worker’s comp.

i. Issues at the margin about scope of employment: was the employee who took off to Atlantic City within the scope of employment?  Similar to respondeat superior, where there are limits on the scope of employment for purposes of determining if the employer is responsible for worker’s actions.

d. Advantages to worker’s comp model: provides incentives, coverage is universal (while it is not with negligence standard), lower administrative costs than tort system.

e. Worker’s comp has attenuated notion of causation. It is enough that an injury occurred at the workplace – then we can presume that employer caused or could have prevented the accident.

f. When the level of benefits in worker’s comp goes up, wages go down, like a compulsory insurance policy for workers. They finance it through a reduction in their wages. This takes us back to the compensating wage differential (Titus).

11. Regulation – only provides incentives, not compensation.

a. Regulation tries to control behavior in advance to reduce risk. Examples are the FAA, EPA, OSHA, FDA. The theory is that there should be preventive measures in advance backed up by regulatory sanctions in place of a tort system that operates after the fact.

b. The regulatory system does not provide for compensation. Thus, there is a dual system of tort and regulation for risk-creating conduct.
12. First-party insurance.

a. Incentive effects minimal. There may be a small incentive, as there may be lower rates for non-smokers or careful drivers. However, the incentives are far from powerful.

13. Contract – in theory, if the employer has to pay higher wages there will be incentive for the employer to reduce risks and higher compensation to the employee.

14. New Zealand.

a. At least for accidental harms, tort liability has been abolished. They decided it was too expensive to cover illnesses. To the extent that there are limits to any system, there will be coverage or line-drawing problems.

b. There has been some increase in auto accidents in New Zealand.

c. Problems:

i. Some multinational drug companies decided to do their testing in New Zealand, particularly on the Maori population.

ii. Lack of political will to take on similar system in US.

15. Three candidate areas for change in the tort system:

a. Auto

i. The idea is to get out of the more costly tort liability system in favor of a cheaper, speedier first-party insurance system. That has been adopted in Quebec, and off and on in British Columbia.

ii. Problem: Incentives. The accident rate appears to have gone up in Quebec after the change.

iii. In the American system, we have no fault liability up to a certain point. If your injuries exceed a certain amount (i.e. $50,000), you get to enter the tort system. From an insurance perspective we may have it backward. The time you most need insurance is when you have a large claim. The reason for this system is the lawyers, who pump up the claims.

b. Medical

i. Alternatives: One could in theory impose liability on health care providers for all iatrogenic injuries. Or we could have compulsory no-fault insurance, so when you go into the hospital you either have to show that you have the requisite coverage or else you’d have to purchase whatever coverage you lacked.

ii. Problem: Line-drawing problem. Was the injury or illness due to the medical procedure, or the underlying condition?

c. Products liability

X. Medical Malpractice

A. The Standard of Care

1. Helling v. Carey.

a. Doctor expected that P had glaucoma and gave her the pressure test. He could have given it earlier but didn’t. Custom was to not administer test to people under 40. Washington Supreme Court found for P – can impose higher standard than custom in medical profession when test is easy and inexpensive.

b. BPL analysis. Court says the burden is clearly less than the risk averted.

c. Custom does not set the standard of care. Yet the general rule with respect to medical malpractice has been that the standard of negligence is customary in the profession.

d. Arguments for custom defining standard of care for doctors:

i. jurors aren’t competent to understand the complexities involved in medical procedures – poor argument – expert witnesses can explain complexities, just as they do in all complex tort cases

ii. Over-deterrence – doctors may be deterred from going into a certain field or else do too many tests in order to cover themselves. Uncertainty of negligence standards leads to over-deterrence.

iii. Professional ethos and incentives – doctors take an oath of care and are genuinely concerned with their patients’ wellbeing. Insures innovation and advance of well-being continues even though custom is a defense.

B. Disclosure and Informed Consent

1. Canterbury v. Spence.

a. Facts: P went to Dr. Spence, who did not tell P or P’s mother anything about risks of operation. A few days after the operation, the P tried to go to the bathroom, fell off the bed and ended up paralyzed. P sued Dr. Spence and the hospital – Spence on the grounds of adequate disclosure, and that the operation was not properly performed. He sued the hospital because he wasn’t properly attended or kept in bed.

b. P has two arguments:

i. the profession wouldn’t have disclosed any more than P did

ii. patients would irrationally choose not to undergo procedure in their interest

c. Court says that duty to inform should be judged by reasonableness, not by custom:

i. Patient autonomy
ii. Impossible to determine professional standards of disclosure (bad argument)

iii. Excessive/unnecessary procedures: independent choice can help avoid this

iv. Caveat emptor not the regime for medical practice
d. Disclosure based on reasonable person standard. Doctor must disclose risks that are material and not known to the reasonable patient. There is a real tension between the objective standard and invocation of patient autonomy.

e. For successful suit for failure to disclose:

i. Doctor’s negligent failure to disclose (reasonable person standard)

ii. Causation: If doctor had disclosed this information, the patient would have chosen not to undergo this procedure. Also uses objective standard

iii. Injury
f. Two exceptions to disclosure rule:

i. emergency – if patient is unconscious and can’t obtain consent

ii. medically contraindicated – telling patient about risk will make him upset, possibly sick

g. Hypo: D negligently failed to disclose, and disclosure would have prevented operation from taking place. P was not injured during operation, but was injured in fall from bed. D would argue no proximate cause (the fall was the proximate cause). P would prevail – like the ambulance case, first negligent party is liable. After that, P must prove that his condition wouldn’t be just as bad without operation due to his pre-existing condition. Two levels of causation that P must prove:

i. Inadequacy of disclosure led P to undergo operation

ii. Procedure caused the injury

2. Why the Canterbury approach rather than Mohr v. Williams approach (battery)? P could say this was a battery due to lack of informed consent.

a. In some cases battery would not be satisfied – Truman v. Thomas, where doctor’s negligence was failure to tell P about risks of cervical cancer and benefits of pap smear test. No battery because she didn’t undergo the procedure. There are also diagnostic cases where there is no touching, so battery is not satisfied.

3. Mink v. University of Chicago.

a. Plaintiffs brought class action on behalf of themselves and other women who were administered DES during pregnancy. The women sued for battery for their concern over possible reproductive injury to their offspring. Court held that battery claim was proper.

b. At this time in Illinois, the doctrine of negligent infliction of emotional distress was not as developed as in other jurisdictions.

4. New York’s statutory response to judicial decisions – New York Public Health Law §2805-d

a. Lack of informed consent is failure to disclose as a reasonable medical practitioner would do – reintroduces custom.

b. Limited to non-emergency treatment, procedure or surgery; or diagnostic procedure which involves invasion or disruption of the integrity of the body.

c. Must show that a reasonable person would not have undergone treatment if fully informed – same as Canterbury.

d. Defenses:

i. Risk not disclosed too commonly known to warrant disclosure

ii. Patient said he would undergo treatment regardless of risk involved or said he did not want to be informed

iii. Consent by patient was not reasonably possible

iv. Practitioner used reasonable discretion – believed that manner and extent of disclosure would adversely affect patient’s condition.

C. Res ipsa

1. Ybarra v. Spangard
a. P went to doctor to get appendectomy. P was strapped down on table. Operation seemed to be successful, but he developed paralysis. P was under anesthesia so didn’t know what happened. P prevails in suit.

b. Elements of res ipsa:

i. Injury probably wouldn’t have occurred without negligence
ii. Must be in exclusive control of D

iii. Must not be due to contribution of P
c. There are many defendants and P does not single one out. Defendants protest that this is unfair. However, P is unable to single one out because he was unconscious at the time.

2. Issue under res ipsa is whether the P can reach the jury without any expert witnesses, not whether the P can reach the jury at all.

3. Bardessono v. Michels: Series of injections administered, causing pain. Shortly thereafter P developed partial paralysis. Causation is met; court says the jury could infer pain from happening of the accident alone.

4. Greenberg v. Michael Reese Hospital: P’s treatment with radiation was discontinued when it was discovered that it could result in tumorous growths. Illinois Supreme Court says that on the facts it can go the jury.

5. Quin: Decedent died of massive internal bleeding after his spleen was removed. Question was whether the vein was weak or the suturing was inadequate. Jury was instructed that if bleeding came from location of the suture then they could infer negligence – if from another point in the vein then they could not find the doctor negligent – conditional res ipsa (on the condition that you find the bleeding occurred at the point of the suturing, then you may infer negligence).

6. Reaction of legislatures: Nevada – need more direct evidence of negligence, such as expert medical testimony. There are a few exceptions in the statute:

i. Foreign substance left within patient’s body

ii. Explosion or fire originating in substance used for treatment occurred in the course of treatment

iii. Unintended burn was suffered in the course of care

iv. Injury was suffered during course of treatment to a party of the body not directly involved in such treatment, or

v. A surgical procedure was performed on the wrong patient or the wrong organ, limb or part of patient’s body.

D. Alternative Approaches to Medical Mishaps.

1. The tort crisis: Sense of the tort crisis has been sparked by increase in liability insurance premiums, which are particularly striking for doctors. Claims were increasing 10% annually, with 10% increase in size of awards.

a. Causes of escalating costs: Changes in disclosure requirements, liberal use of res ipsa. Also the underwriting cycle of insurance, and people’s increased willingness to bring claims (due to easier access to lawyers, perhaps – Supreme Court allowed lawyer advertising as a First Amendment matter). Also the sense that medicine is becoming more impersonal, so people have less trust or confidence in their doctors. Also, juries seem willing to allow larger sums, perhaps because perception of medical profession has changed or the idea that D has insurance and P needs to recover.

b. Another aspect of the crisis is enormous delay in the system. In NY, the average delay from injury to date of payment is 6 years, and in some cases 10 years or more. 70% of the money is gobbled up by transaction costs, only 30% goes to victim.

2. Legislative responses: There was some effort to restrict access by having review panels screen cases. The views of the panel, if negative, could be submitted to the jury. Some states limited contingent fees, total awards, or just pain and suffering.

a. Most caps on awards were struck down by state courts on state constitutional grounds.

3. Statistics.

a. For every 100,000 patients admitted to a hospital, there were 3700 cases of iatrogenic injuries. About 70% of the injuries were not the result of negligence. About 1,000 cases were the result of negligence.

b. Number of malpractice claims were only 130, and of those filed, 105 did not involve negligence and only 25 did. Claims filed were a small fraction of the negligent iatrogenic injuries. Of those filed, those involving negligence were less than the overall sample.

4. Strict liability. Helling concurring opinion, where judge suggests strict liability for all iatrogenic injuries. Would this be a good idea?

a. Advantages: Does away with negligence stigma and avoids defensive medicine – health care providers would make cost-benefit analysis as to needs of diagnostic tests.

b. Problems:

i. Causation. With SL, we don’t know whether injury is due to the physician or underlying condition. Can’t resolve whether an illness should have been diagnosed earlier once you depart from negligence standard. Would reduce cost of litigating a given claim, but we’ll have a lot more claims.

5. Worker’s comp. People have argued that we should have something like worker’s comp system – you recover for a designated compensable event. For about the same amount we’re paying for malpractice premiums today, we could provide basic compensation for all people suffering iatrogenic injury.

a. Makes sense if health care were provided by large entities, but is less workable for individual physicians or small clinics.

6. Compulsory first-party insurance for patients. Akin to auto no-fault, where patients have insurance against damage caused by iatrogenic injury. May be provided by health care providers for additional charge if patient did not already have that coverage.

a. Harvard study estimated that in 1990 malpractice liability premiums in NY were about $1 billion. Could have a package of basic benefits with 2-month deductible that could be supplied to all victims of iatrogenic injuries for about $1.2 billion through administrative system.

b. There are enough institutional incentives to take care: Don’t need tort system for incentive effects – it is better that people get the money soon, as opposed to the current tort system which takes a long time to compensate the victim.

7. Contract alternatives.

a. Tunkl. UCLA hospital took in a number of indigent patients but made them sign a waiver of any tort liability. Waiver invalidated by the California Supreme Court.

b. Pepper. P came to the clinic, wanted an oral contraceptive. She signed an arbitration agreement but did not have an option. It was an adhesion contract – take it or leave it. Court invalidated the agreement due to lack of choice.

c. Madden. P clearly had a choice to select arbitration or not. There were several options available, some of which offered jury trial and others that did not. Court upheld the agreement:

i. Meaningful choice

ii. She had somebody at the bargaining table on her behalf who was knowledgeable and sophisticated.

iii. This is the way to go – allow different models and allow individual patient choice – i.e. patient can choose to waive tort rights in favor of arbitration.

XI. Products Liability

A. P’s Prima Facie Case

1. Manufacturer/seller breaches duty to provide consumer/user/bystander with non-defective product

a. construction defect – strict liability

b. design defect – negligence (with variations in a few jurisdictions, such as CA)

c. warning defect – negligence

2. Injury

3. Causation

4. Damages

B. The Fall of Privity and the Rise of Products Liability
1. Winterbottom v. Wright – Privity requirement
a. D is a coach supplier, who sells coaches to postmaster general. P is coach driver. There was a latent defect, coach broke and P was injured, and sued coach supplier.

b. Court finds for D because he does not owe duty to P – duty only owed to person who originally contracted. Notion of privity – liability of supplier only extends to those parties with whom it is in contractual privity.

2. Huset (1903) aptly summarizes the state of American law prior to the MacPherson decision.

a. Court offers two justifications for the privity rule:

i. Not foreseeable – not a persuasive argument because product is put into stream of commerce

ii. Protect industry – there must be a limit to the liability of manufacturers

b. Judge says there are three exceptions to the Winterbottom rule:

i. An act of negligence which is imminently dangerous (i.e. Thomas v. Winchester, where a poison was mislabeled).

ii. Where product was given to somebody invited by the owner to use the good on his premises. Problem of distant users is thus avoided.

iii. When one sells an article he knows to be imminently dangerous (with latent defect), without notifying other party of its condition.

3. MacPherson v. Buick Motor Co – abolishes privity in the context of negligence
a. D was a manufacturer of automobiles. Sold car to retailer, who sold it to P. P drove car, wheel collapsed, he was ejected from car and injured. Wheel suppliers manufactured wheel out of defective wood. P sues manufacturer (Buick)

b. Distinction between construction defect and design defect. In a design defect (with mass produced product – drug, automobile), there is a flaw in the design and thus every instance of that product type has that defect. With a construction defect, it is not a generic defect but rather one that applies to the specific product. In MacPherson we have a construction defect, not a problem that is common to wheels on all Buicks.

c. Cardozo uses the Husett exceptions rhetorically. He says that in Thomas v. Winchester, if the good was extraordinarily dangerous, it should not be limited to poisons and drugs – instead, it should apply to all goods that are negligently designed, where the producer should know that the product could be dangerous.

d. Cardozo adopts a two-part rule:

i. Product is unreasonably dangerous
ii. Risk of injury to third parties is foreseeable. It has to be foreseeable that third parties will use product, and that if there is a defect in the product, third parties are at risk of injury.

e. Buick cannot just rely on the wheel supplier – testing is important, and manufacturer is in a better position to test than the retailer.

f. Cardozo’s justification for change in the law: Principles from the days of travel by stagecoach do not fit the conditions of travel today. We have to adapt the law to the reality of mass assembly-line manufacturing and mass marketing. We should target the duty back on the manufacturer, who is the focal-point of the design.

4. Escola v. Coca-Cola Bottling Co. – Important for Traynor’s concurring opinion advocating SL
a. Facts: P is a waitress. A soda bottle explodes, injuring her. She sues Coca-Cola bottling. And recovers under MacPherson principles – it is foreseeable that third parties could use bottles, and that if bottles are defective they may be injured. Majority of California Supreme Court says P is entitled to jury verdict – even though she can’t prove the precise type of negligence, res ipsa governs.

i. exclusive control – nothing subsequent could have accounted for problem, so defect must have originated with the bottler. Court uses a relaxed res ipsa standard – allows case to reach jury without any proof of negligence.

b. Traynor’s concurring opinion. He says court should impose SL. Reasons:

i. Incentives for precaution

ii. Proof of negligence too difficult for consumer

iii. Risk-spreading/insurance – better that everybody pays a little more than injured consumer paying a lot. Manufacturer is in best position to cover cost of injuries.

iv. Warranty. Should let consumer go straight to manufacturer, rather than consumer to retailer, retailer to wholesaler, wholesaler to manufacturer.

v. Res ipsa as majority wants to apply it is tantamount to SL – should just adopt SL.

c. Traynor’s opinion later adopted in Greenman (Traynor writing for majority) – see below.

5. Incentives for Product Safety under Contract, Negligence Liability, Strict Liability

a. Costs. Cost of basic product is $20, adding safety costs $5. Expected harm per product is $10 in the case of unsafe product, $1 in the case of a safe product. Thus, the sticker price of unsafe product is $20 but total price is $30. Safe product’s sticker price is $25, total price is $26.

b. Incentive effect. If consumer is totally ignorant about safety, he will simply focus on sticker price. Tort liability assumes that consumers are ignorant of safety. With negligence liability or strict liability, total cost would be $50 for the negligently manufactured product (including administrative costs of tort system). Consumers will buy the safe product.

c. Negligence vs. SL. Negligence – unsafe product costs $50 and safe product costs $25. SL – unsafe product costs $50 and safe product costs $28.

d. Difference between negligence and SL. Both induce consumer to buy safe product. Difference between negligence and SL is that in negligence, if manufacturer takes care he is not liable. Under SL, he is liable even if he takes care. From an insurance viewpoint, consumer wants that. But price of product will be higher.

e. Reasons SL might be preferable:

i. It might be difficult for consumers to prove negligence.

ii. Knowledge and technology forcing – manufacturers should have continuing incentives to find risks associated with products and make them less risky.

iii. Internalizing large residual harms – if products are dangerous even when properly made, we should internalize the costs rather than impose them on those who are injured. Manufacturer becomes the risk pooler, passing cots on to consumers who are buying an insurance policy along with product.

f. Arguments against SL:

i. High administrative costs – under SL regime, administrative costs are about 2/3 – only 33¢ on the dollar ends up with the injured P.

ii. People would not voluntarily buy insurance for pain and suffering – but they are being forced to buy that under this system.

iii. Distributional issues: SL has a regressive distributional impact, because increased product prices will hit the poor harder, and wealthy consumers get more out of the tort system.

iv. Careless consumer vs. careful consumer. The careful are financing the careless through this insurance system.

6. Greenman.

a. Facts: P was given a power tool with brochure – he read the brochure, operated tool properly and was injured. This was a design defect – they could have used stronger screws in the design. This establishes negligence using BPL analysis.

b. Traynor says manufacturer is strictly liable. This was an unfortunate crusade because it got people quite confused – he did not differentiate manufacturing defect from design defect.

7. McCabe v. Liggett Drug Co. – warranty theory
a. P uses coffeemaker which explodes. Suit is brought in contract on a warranty theory – implied warranty that product is fit for its intended and ordinary use. Massachusetts Supreme Court reinstates jury verdict for P, which trial court had reversed.

b. There are some substantial problems with the contract remedy as opposed to the tort remedy.

i. Privity: Puts us back in the realm of privity – P can only sue the person with whom she has a contract, cannot go upstream to the manufacturer.

ii. Damages: Normal measure of damages in a contract action is expectation damages or perhaps restitution – consequential damages (such as injury to person) generally not allowed unless specifically contracted.

iii. Statute of limitations.

iv. Heningsen and some other determined state courts have tried effectively to transform warranty theory into a tort theory. It may be available as a theoretical alternative – sometimes warranty claim will be joined with tort claim, but tort tends to be the center of attention.

8. Other jurisdictions strip away traditional limitations on contract rights and remedies.

a. Classical view: Chysky, where waitress who bit into cake with nail in it had no contractual relationship with cake manufacturer – thus she could not recover.

b. Greenburg: Overturns Chysky. Daughter of purchaser ate canned salmon with metal slivers – father bought it from store but she is allowed to bring suit against the store.

c. Henningsen. Spouse is injured while driving car that her husband purchased. Persons downstream (other than purchaser) are allowed to recover even though they are not in privity. Heningsen abolished privity upstream as well – can sue manufacturer for defect that clearly originated with it.

9. UCC §2-318. Third party beneficiaries of warranties express or implied…

Alternative A – deals with family

A seller’s warranty whether express or implied extends to any natural person who is in the family or household of his buyer or who is a guest in his home if it is reasonable to expect that such person may use, consumer or be affected by the goods and who is injured in person by breach of the warranty. A seller may not exclude or limit the operation of this section.

Alternative B – can’t exclude any liability, including injury to property

A seller’s warranty whether express or implied extends to any natural person who may reasonably be expected to use, consume or be affected by the goods and who is injured in person by breach of the warranty. A seller may not exclude or limit the operation of this section.

Alternative C – can’t exclude liability for injury to the person
A seller’s warranty whether express or implied extends to any person who may reasonably be expected to use, consume or be affected by the goods and who is injured by breach of the warranty. A seller may not exclude or limit the operation of this section with respect to injury to the person of an individual to whom the warranty extends.

C. The Restatement Formulation
1. Restatement (Second) of Tort, §402A.

(1) One who sells any product in a defective condition unreasonably dangerous to the user or consumer or to his property is subject to liability for physical harm thereby caused to the ultimate user or consumer, or to his property, if
(a) the seller is engaged in the business of selling such a product, and
(b) it is expected to and does reach the user or consumer without substantial change in the condition in which it is sold

(2) The rule stated in Subsection (1) applies although
(a) the seller has exercised all possible care in the preparation and sale of his product, and

(b) the user or consumer has not bought the product from or entered into any contractual relation with the seller.

2. Restatement of Products Liability (1999)
§1 Liability of Commercial Seller or Distributor for Harm Caused by Defective Products
One engaged in the business of selling or otherwise distributing products who sells or distributes a defective product is subject to liability for harm to persons or property caused by the defect.

Note: Excludes casual sellers (Mrs. Murphy next door who sells an apple pie once in a while).

§2 Categories of Product Defect
A product is defective when, at the time of sale or distribution, it contains a manufacturing defect, is defective in design, or is defective because of inadequate instructions or warnings. A product:

(a) contains a manufacturing defect when the product departs from its intended design even though all possible care was exercised in the preparation and marketing of the product;

(b) is defective in design when the foreseeable risks of harm posed by the product could have been reduced or avoided by the adoption of a reasonable alternative design by the seller or other distributor, or a predecessor in the commercial chain of distribution, and the omission of the alternative design renders the product not reasonably safe;

(c) is defective because of inadequate instructions or warnings when the foreseeable risks of harm posed by the product could have been reduced or avoided by the provision of reasonable instructions or warnings by the seller or other distributor, or a predecessor in the commercial chain of distribution, and the omission of the instructions or warnings renders the product not reasonably safe.

§18 Disclaimers, Limitations, Waivers, and Other Contractual Exculpations as Defenses to Products Liability Claims for Harm to Persons
Disclaimers and limitations of remedies by product sellers or other distributors, waivers by product purchasers, and other similar contractual exculpations, oral or written, do not bar or reduce otherwise valid products liability claims against sellers or other distributors of new products for harm to persons.

§19 Definition of “Product”

For purposes of this Restatement:

(a) A product is tangible personal property distributed commercially for use or consumption. Other items, such as real property and electricity, are products when the context of their distribution and use is sufficiently analogous to the distribution and use of tangible personal property that is appropriate to apply the rules stated in this Restatement.

(b) Services, even when provided commercially, are not products.

(c) Human blood and human tissue, even when provided commercially, are not subject to the rules of this Restatement.

3. Restatement of Products Liability smacks of BPL – P will say there is some feature of the product design that should have been designed in a different way – i.e. stronger seatbelt, crash-proof bumper. It is like a BPL/negligence determination of the sort we’ve seen in our prior coverage of negligence.

a. Is it the product as used in the ordinary way, or does ordinary misuse have to be designed against? If people will speed, should you design the car to reduce impacts of high-speed crashes? Courts have generally said that you should design against foreseeable misuse – in applying BPL we need to take into account foreseeable misuse.

b. Risk utility balancing – must balance the risk to be avoided with the burden in terms of reduced utility of product because more expensive, less attractive, etc.

c. Warning liability – manufacturers are under a duty to warn consumers against risk of product

i. Must instruct consumers how to use product more safely.

ii. Consumer may choose not to use product at all when aware of the dangers.

4. Possible defendants under §402A:

a. Manufacturer – MacPherson
b. Component supplier (was not sued in MacPherson case) – Restatement is silent on this issue. In Goldberg case (malfunctioning altimeter caused plane crash), if plane manufacturer tested the altimeter and thought it was working, but it malfunctioned, P can sue component supplier on warranty theory. Would still probably have a warranty claim, though, even if plane manufacturer did not take all due care.

c. Retailer: In California (Vandermark) and a few other jurisdictions, can sue the retailer

d. Provider of services (i.e. American Airlines in Goldberg case) not subject to products liability. Services governed by more general rules of negligence.

5. Types of injury for which one may recover under §402A:

a. Personal injury
b. Physical damage to property other than the product itself

c. Loss of business would not be covered unless it’s expressly contracted for – Restatement of Products Liability §21.

6. Tillman. D is a used equipment dealer, from whom P purchased a 24 year old used crane. Court rules that dealer of used products is not liable under products liability.

7. Michalko. If the dealer who buys the used product reconditions it he may be liable not only for defects in the reconditioning operation itself, but may have to update safety devices, particularly in equipment used in employment situations where the worker may be injured.

D. Manufacturing or Construction Defect
1. Pouncey v. Ford Motor Co.

a. Facts: P was injured while putting antifreeze in his 1966 Ford automobile. A blade broke off the radiator fan and struck him in the face. 5th Circuit upholds jury’s finding for P.

b. D’s main argument is that there is insufficient evidence to support jury’s verdict. Critical issue is whether failure in the fan originated with manufacturer. There are two competing theories of where the problem came from. It is a question of causation. However, there is sufficient evidence to support jury’s finding.

c. In some cases, res ipsa comes into play because there is some failure in the product but P cannot introduce evidence about how it originated – Welge (defective jar of peanuts that had been on top of P’s refrigerator) and Jagman (P injured when struck in the face by a grinding wheel that broke into pieces while he operated it). More hostile approach in State Farm, where court granted directed verdict for D because it was equally likely that defect was due to negligent repair as negligent manufacturing.

2. Causation
a. The question often is the origin of the defect. Product has gone down the chain of distribution – did the defect originate with the manufacturer or was it introduced some place down the line?

b. Another question is how the product is being used. Important question in type II situations – unilateral harm, bilateral care.

E. Design Defect
1. Negligence determined through BPL – reasonable person standard may not give much guidance. The burden is on P to point to one or more alternative designs.

2. Causation: Having shown the alternative design should have been adopted, P must show that if the modified design had been adopted then the accident would have been prevented.

3. Manufacturer has a duty of precaution only with respect to those risks that it knew or should have known at the time that the product was manufactured.

a. State of knowledge issue – P has to show that this risk should have been known by manufacturers.

b. State of the art issue – manufacturer only has to consider those alternative designs that were known or should have been known at the time the product was manufactured.

4. Greenman (inadequate screws) is an easy case. Wood was not held in place.

5. Volkswagen v. Young. More complicated case involving rear-end collision.

a. P’s estate argues the car should have been more crashworthy, thus liability is on Volkswagen as well as the driver who rear-ended. In principle, other driver is liable for injuries that would have occurred if seat had not detached, plus exaggeration in injury for the detached seat. Volkswagen will be liable for aggravation as well.

b. Problem of the differentiating injuries – may be too difficult to differentiate extent of injuries attributed to one actor as opposed to combination of initial actor and Volkswagen.

c. Each D will be jointly & severally liable for the whole amount unless Volkswagen can apportion the injury.

d. Early cases (Evans) said there was no duty to anticipate and design against crashes attributed to negligent conduct of third parties. Rejected here – manufacturer does have a duty if the crashes are foreseeable.

e. Next question is how safe the car has to be. Obviously it doesn’t have to be prepared for collision with a tank – where do we draw the line?

f. For vans, convertibles, motorcycles, there is no alternative design. Instead you wouldn’t have vans, convertibles or motorcycles. There are advantages to these products for many people – we will leave decision to the market where the risks are apparent to the ordinary consumer.

6. Dawson – good example of the problem of trade-offs.

a. Collision against side of car. P argued it could have had a rigid frame to prevent side collisions from intruding into passenger compartment. However, such a rigid frame would make car worse in head-on collisions. The concern is that a jury in one case will say manufacturer should have designed car to prevent harm from side accident, and in next case will say manufacturer should have designed the car to protect from a head-on collision.

7. Problem with juries. Jury system is case by case, ad hoc – we need national standards:

a. Stronger judicial control. Going back to Holmes, judges need to take a stronger hand. Example: Wilson v. Piper Aircraft Corp. P did not make out PF case because he did not sufficiently spell out advantages of alternative.

i. There is evidence of somewhat stronger judicial control in response to this problem. The number of product liability claims has begun to decline in the 1990s.

b. Regulatory compliance defense. Linde’s concurrence in Piper suggests that the court recognize a regulatory compliance defense. He’s sympathetic to the defense, as long as manufacturer discloses all the potential risks to the regulatory agency

c. National products liability standard enacted by congress for national market of products. However, none of these have passed. Manufacturers favor national standards.

8. Micallef – P injured while “chasing hickies” in printing press.

a. Issue is whether there is a duty when defect is open and obvious. Court rules that there is a duty – alternative to chasing hickies was to shut down the machine for 3 hours, and thus there is pressure on employee to cut costs and keep the production line going.

b. Court applies BPL standard. Duty to install cost-effective protection extends to defects that are open and obvious in addition to those that are latent.

c. Problem: Careful users will have to subsidize the careless.

9. Usually manufacturer cannot recover from the employer because it violates employer’s limitation on liability – would effectively let employee recover from employer, circumventing worker’s comp scheme.

10. Hypo: I have a lawnmower with a leaf bag attached. Leafs get stuck. I take the bag off, stick my hand in the lawnmower, hand gets cut. Manufacturer is liable under BPL standard because this is forseeable misuse.

11. Barker v. Lull Engineering Co. – product is being misused under employer’s directions, using front end loader on steep hillside. Employee sues, saying it should have been designed with certain safety features.

a. Court introduce two-pronged test of defective design. Product is defectively designed if:

i. It injures P while being used in an intended or reasonably foreseeable manner, or

ii. D fails to prove that alternative designs were not cost-justified by BPL standards (BPL test with burden-shifting feature)

b. Court also introduces ordinary consumer expectation test. Usually these tests are flawed:

i. The reason we need tort liability is because consumers don’t have an adequate judgment about product safety – if they did, they would demand appropriate safety and we wouldn’t need the tort system.

ii. For complex products under extreme conditions, people don’t have expectations.

· Subsequent to this decision, California courts said that consumer expectations test should only be used for products simple enough that consumers can have expectations. (Only California and a few other jurisdictions have the consumer expectations test.) In complex cases, court should use BPL standard.

12. Unreasonably dangerous products. Traces back to Restatement (2d) §402A comments i and k. Certain products cannot be designed to eliminate risks without also eliminating benefits – i.e. alcohol, knives, guns. Law’s general approach is to say there’s no liability for unavoidably unsafe products if danger is known to the average consumer or there is a warning so that individual has informed choice in the matter.

13. O’Brien v. Muskin – departure from the rule that there is no liability if danger is known to average consumer.

a. Outdoor swimming pool with vinyl lining. P was drunk and trespassing, dove from garage into pool.

b. NJ Supreme Court said there could be recovery, because it’s forseeable misuse. Problem was that no alternative material could be used. Court says nonetheless jury can find even without alternative that it was negligent to market the product at all.

c. NJ Supreme Court’s approach was quickly repudiated by statute.

14. Kelley. Saturday Night Special case – utility may be so small and risk so great that we can allow jury to find that product should not be marketed at all.

F. Duty to Warn
1. Need warnings to instruct user of product risks, enable product to be used safely. Warnings instruct consumer to use product safely, and present option of avoiding product if consumer believes risks outweigh the benefits.

2. Manufacturer must provide adequate warnings for:

a. Only risks that are known or knowable by manufacturer for which there should be a duty to warn.

b. Risk must be material – only those risks that ride to some threshold level of materiality need to be warned against, not trivial or rarely realized risks. An objective standard of materiality is essential because there’s no face to face communication between manufacturer and consumer.

c. Not generally known to consumers.

3. McDonald v. Ortho Phamaceutical Corp. – birth control pill, warning did not present risk of stroke

a. General rule is that you provide warning to the ultimate consumer, but in the medical context there was the doctrine of the “learned intermediary” – duty to warn extends to the physician who provides over-the-counter prescription drugs. Court concludes duty to warn extends to the consumer.

b. Similar situation arises with products made available to employers – manufacturer has to warn the employees.

c. P argues that the word “stroke” should have been used in warning – more accurate and vivid.

d. Two issues of causation:

i. Would warning have led P not to use the product?

· Must show: 1) P did not know about hazard on her own, 2) P read the warning, 3) warning did not adequately and effectively warn about risk, 4) if warning had been adequate she would have chosen not to take the product

ii. Did the product cause the injury?

· Was injury caused by the product or something else.

4. Jackson v. Coast Paint & Lacquer Co. – Employment situation where warning should go to employee. Jackson claimed that warning to use with adequate ventilation applied only to the danger of breathing toxic vapors, not the danger of explosion. Court allowed him to reach the jury.

a. Gives too much leeway to the jury.

5. Ayers v. Johnson & Johnson. 15-month-old David Ayers drinks bottle of D’s baby oil, which causes oxygen deprivation and results in serious injuries.

a. Court sustains jury’s verdict – entitled to infer that they would have treated the baby oil with greater care if they had known of the risks.

6. Solutions to great leeway given to juries:

a. Greater judicial control.

i. Cotton – court says the warnings on propane tanks were adequate as a matter of law. P ignores the problem of information costs – both to print, and also that the impact of warnings is reduced.

ii. Todd v. Societe Bic – 4-year-old child starts deadly fire with Bic lighter. Lighter says “Keep out of reach of children.” Court grants summary judgment for D. If parents were not persuaded by a bold and effective warning, they would not be persuaded by more subtle points regarding danger.

b. Regulatory compliance as a shield

c. Relative labeling of risk, the way ski slopes are labeled (i.e. Double Diamond)

7. Warnings and design defects.

a. Lawnmower hypo: P reaches in while machine is running. There is a warning on the lawnmower: “Do not insert hand while machine is running.” Even if it is vivid and adequate, it does not foreclose a design defect claim because foreseeable misuse includes disregarding a warning. Machine should be redesigned if it is cost-effective to do so.

8. State of knowledge.

a. This was a subject of contention in asbestos cases. Asbestos is a highly beneficial product but creates a hazard if the fibers are inhaled. Asbestos litigation centered on the warning issue – can’t redesign the asbestos, it is an inherently dangerous but net desirable product.

b. Claims are brought by people who are employees of shipyards – they claim that if there had been a warning they would have taken proper precautions to avoid the harm. Critical issue is when manufacturers knew and when they should have known about dangers of exposure to asbestos products.

c. Borel: Sufficient evidence to get to the jury that manufacturers knew as early as the early 1940s – should have been a warning. If there was a warning, would steps have been taken to limit the exposure?

d. Beshada. Duty to warn even if risk was not known or knowable. It was a knowledge-forcing incentive – manufacturers under strong incentive to find out everything they should have about risk. Beshada has been rejected in prescription drug context and in other jurisdictions. Apart from Beshada and a few other cases, we stick with the negligence rule.

9. Regulatory compliance preemption issue. If warning has been imposed by government authorities (i.e. pesticides, tobacco), does that preclude imposition of tort liability on the ground of warning defects? There are two routes:

a. Regulatory compliance defense – courts will recognize regulatory compliance as a defense. Regulatory compliance is not a defense – generally D can argue that compliance should be sufficient, but jury is entitled to find that the particular warning was not adequate.

b. Statutory preemption. Congress may preempt imposition of state tort liability based on warning defect. As indicated in King, this issue arose in the cigarette context and the Supreme Court held that common law liability was precluded by the 1969 labeling act. No requirement should be imposed under state law with respect to warnings that comply with this act.

i. King v. Dupont. King arose under FIFRA, which provides a scheme for labeling pesticides. The statute expressly preempts state court liability that differs from FIFRA requirements. Court rules that, while implied preemption is disfavored, express preemption is a defense.

10. Tort alternative for vaccines. There could be something like a worker’s comp system to compensate those unlucky few who are hurt by vaccines. The fear with the tort system is that the price of the products will increase too much, unduly increasing the cost of health care. Worker’s comp alternative where there is a no-fault system may be preferable.

G. P’s negligence.

1. Court in Daly v. General Motors Corp. rules that P’s negligence can be affirmative defense, in a case where P is drunk, speeding and doesn’t have his seatbelt on.

a. This defense will most often arise in the context of design defect.

b. Mosk’s dissent. His argument is that decision will lessen incentives of manufacturer to take care. It will to some extent, but perhaps it is desirable to give incentives to P as well.

c. Court is concerned about fairness – shouldn’t preclude P from recovery, nor should we disregard P’s negligence.

d. Most jurisdictions follow rule in Daly – P’s negligence is a defense.

e. Jewett assimilated assumption of risk into comparative negligence, assumption of risk is part of the comparative negligence regime here.

2. P’s negligence in the context of warnings.

a. LeBoeuf. Driver was drunk and driving over 100 mph. Court allows recovery because of insufficient warnings about risk of tread separation at high speeds.

H. Punitive damages in products liability.

1. Three reasons to impose punitive damages:

a. P is concealing the risk in order to avoid tort liability

b. Problem of many small claims (people don’t pursue small claims)

c. D’s care falls short of the requisite care levels

· Most cases focus on the first two.

2. In asbestos cases, punitive damages were justified. The difficulty with a mass tort is deciding whether every asbestos victim should get punitive damages. If so, there could be massive punitive damages, which may come at the expense of compensatory damages to other plaintiffs.

3. Grimshaw. Location and design of fuel tank made the Ford Pinto susceptible to explosions. Engineers did cost-benefit calculation because they knew there would be a certain number of deaths from explosions.

a. When tort liability is an incentive mechanism for safety, the welfarist perspective wants people to make the trade-offs. Welfarist perspective may be at odds with popular notions.

4. Ideal system for torts is regulatory compliance defense with full disclosures, even when it comes to compensatory damages. But when it comes to punitives, there is no case against the regulatory compliance defense.

XII. Gun Manufacturer Liability

1. Tobacco litigation may be viewed as a precedent for gun litigation. Both products have low social utility and are regulated by federal law.

2. Safety devices may be added to guns, but none seems to be fool-proof.

3. In the case of both guns and tobacco, side effects can’t be dissociated from features that make them desirable. Thus, design defect may be problematic here as a ground for liability. Raises the question of whether tort system is designed to provide compensation, internalize external costs, or drive products off the market.

4. Hamilton v. Accu-Tec. Basic theory is negligent marketing. Accu-Tec knew that guns are sold in Southern states and moved to Northern states with more restrictive gun laws.

a. Precautions Accu-Tec could have taken:

i. declining to do business with careless FFLs

ii. limiting sales at unregulated gun shows

iii. requiring that first sales of handguns take place only in fully stocked, responsibly operated stores

b. Causation.

i. Proximate cause is satisfied if they allow product to get into hands of people that misuse it – Restatement (Second) §449.

ii. What about “but-for” causality? Normally P would have to show that this person got a gun due to negligence of manufacturer, and wouldn’t have gotten it any other way.

c. Proportion of liability: A very imperfect system – the bottom line is that you need to know the percentage of negligently marketed guns that result in a shooting. Difficulties:

i. Some of the shooting deaths may not have resulted from guns that were illegally distributed or held by criminals.

ii. Even non-negligently marketed guns might have been diverted and resulted in shooting.

5. Merrill.

a. The claim is that manufacturing the gun itself was negligent – it has no legitimate sporting or self-defense purposes. The problem is that changing the gun may take away the features that make it desirable.

b. The only situation where a gun has been held up to this kind of weighing is with Saturday Night Specials, where they said there is no other use for Saturday Night Specials than criminal use.

c. Statute says you can’t apply risk/benefit analysis to guns. Purpose is to foreclose shifting of burden to the manufacturer.

d. P’s burdens:

i. Must show that alternative design would work better. Their best shot on this gun is to come up with alternative features and to say that the reduction in utility is outweighed by the high PL of these features.

ii. P would have to argue that if he had another gun less people would have been killed.


